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Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Attempt any one from (A) and one from (B) in about 150 words each. [16]

A) )
if)
B) i)
if)

How does Kalam describe his achievement as a scientist as an act
of God?

What does C.V. Raman say about the issue of soil erosion?

How does advertising have an adverse effect on the mind and life
of the young?

What was the disaster that struck the photograph? What was Datta’s
reaction to this disaster?

02) Attempt any one from (A) and one from (B) in about 150 words each : [16]

A) i)
if)
B) 1)
if)

Describe Ivan Dmitritch’s worries about his wife’s behaviour after
winning the lottery.

How does the poet describe the present condition of the harp?

What does a person feel when s/he gives away a pound note,
according to Lawrence?

You want to start your own business whereas your friend want to
join government services. Write a dialogue between you and your
friend discussing your career choices.
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03) Attempt any one from (A) and one from (B) in about 150 words each : [16]

A) i)
if)
B) 1)
if)

Explain how Indra Nooyi spearheaded vital and dramatic changes
to the policies of the company she heads.

What prospects has globalisation driven by technology brought to
India?

How does R.K. Narayan describe the situation of English in India?

How would you view Indra Nooyi as a role model for people who
want to enter the world of finance?

04) Attempt any one from (A) and one from (B) in about 150 words each : [16]

A) 1)  Explain the significance and symbolism of the Woodrose creeper
in the story.
i)  Why did Mr. Varma misunderstand the devotion of his son?
B) 1)  What does the poet ask for in her prayer in “The Soul’s Prayer”?
i)  What are the main ideas expressed by the poet in “stopping by
woods on a Snowy Evening”?
05) A) Attempt any one of the following : [8]
i)  As an organizer, write a letter to a famous actor to be the Chief
Guest for Annual Prize Distribution Ceremony of your college.
i) Write a brief newspaper report of two short paragraphs on the
following headline :
Sea - facing Amusement Park Inaugurated in Mumbai
B) Attempt any one of the following : [8]
i)  There is a vacancy in Tech Mahindra Pvt. Ltd. Hyderabad for a
Clerk in Account Section. Write a resume for the post.
i)  You want to send an invitation of your sister’s wedding to your
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friend. Send the invitation to your friend’s email address
rajesh2014(@rediffmail.com

SISIS



Total No. of Questions : 4] SEAT No. :

P352 [4763] - 1002 [Total No. of Pages : 8
F.Y. B.Com.
FINANCIAL ACCOUNTING
(2013 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.
3)  Use of calculator is allowed.

Q1) a) State whether the following statements are True or False (any five) : [5]
1)  Surplus capital is also known as proportionate capital.
i)  Firms carrying similar types of business may be amalgamated.

ii) All assets and liabilities are transferred to realization account at their
book value.

iv) Royalty is the amount which is payable by Landlord to Tenant.

v) Rent, Rates and Taxes are allocated to various departments on the
basis of floor space occupied.

vi) In case of instalment system purchaser of the goods can sell the
goods even after payment of first instalment.

vil)) Accounting Standard No. - 9 deals with depreciation.

b) Fillinthe blanks by selecting proper word/s form the brackets (any five):|[5]

1)  Government Taxes are treated as _ creditors.
A) Preferential
B) Secured
C) Unsecured
i)  Decrease in value of Asset, on revaluation is to Revaluation
Account.
A) Credited
B) Debited
C) Ignored
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iii) Conversion of Partnership Firm in to Limited Company is referred
to as sale of partnership business to
A) Sole Trader
B) Company
C) Partnership Firm
iv) Excess of Minimum Rent over Royalty is called as
A) Surplus
B) Profit
C) Shortworking
v)  Accounting Standard No. 1 deals with
A) Valuation of Inventories
B) Disclosure of Accounting Policies
C) Revenue Recognition
vi) In Hire Purchase System, interest is calculated on  price.
A) Hire Purchase Price
B) Sales Price
C) Outstanding Cash Price
vii) Discount Received is allocated to various departmentson  ratio.
A) Purchase
B) Sales
C) Actual
c)  Write short notes (any two) : [14]
i)  Valuation of Inventories A S - 2.
i) Effects of Amalgamation.
i) Features of Instalment System.
iv) Provision for Unrealised Profit.
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02) P and Q were partners sharing profits in the ratio of % : ¥4 where as R and S
were partners sharing profits and losses equally. The two firms decided to
amalgamate on which date the balance sheet of the two firms were as follows

Balance sheet as on 315 March, 2013

Liabilities P& Q| R & S|Assets P&Q|R&S
Creditors 30,000 | 45,000 | Plant & Machinery| 60,000 | 81,000
Bills payable 12,000 | 24,000 | Furniture 24,000 [ 27,000
Mrs. Q’s Loan 30,000 | Stock 60,000 | 72,000
Mrs. S’s Loan | 21,000 [ Debtors 57,000 | 51,000
Outstanding rent 6,000 4,500 | Fixtures 4,800 3,600
Capital A/c’s Cash in Hand 10,200 9,900
P 90,000 | Goodwill 12,000 o
Q 60,000 o
R | 75,000
S | 75,000

2,28,000 |2,44,500 2,28,000 |2,44,500

Following are the terms of amalgamation.

i)

i)

Mr. Q agreed to pay Mrs. Q’s Loan and Mr. S agreed to pay Mrs. S’s
Loan.

Outstanding rent was paid in full by respective firms.

Creditors of both the firms were taken by the new firm at a discount of 5%.
Plant and Machinery is subject to 5% depreciation of both the firms.
Furniture of R and S was sold in the market for Rs. 24,000/- and Furniture
of P and Q was not taken over by the new firm.

Fixtures of both the firms were not taken over by the new firm.

Stock of P and Q was valued at Rs.66,300/- and that of R and S at Rs.
63,000/-

Goodwill of P and Q is valued at Rs. 18,000/- and that of R and S at Rs.
24,000/- Goodwill account is not be retained in the books of the new
firm.

Reserve for doubtful debts is to be maintained at 5% on S. Debtors of
R and S.

[4763] - 1002 3



Prepare Revaluation Accounts, Partners Capital Accounts in the books of both
the firms and prepare balance sheet in books of new amalgamated firm. [14]

OR

Asha, Usha and Nisha were in partnership sharing profit and losses in the
ratio of 2:1:1 respectively. They decided to dissolve the business on 31%
December, 2013 on which date their balance sheet was as follows -

Balance sheet as on 31% December, 2013

Liabilities Amount | Assets Amount

Rs. Rs.
Capital Accounts Cash in hand 20,000
Asha 2,00,000 | S. Debtors 1,80,000
Usha 1,10,000 | Stock 1,70,000
Nisha 50,000 | Plant and Machinery|1,30,000
General Reserve 40,000 | Land and Building |3,10,000
S Creditors 2,34,000
Bills Payable 1,56,000
Income Tax 20,000

8,10,000 8,10,000

The assets were realized piecemeal as follows -
On 1% January, 2014 Rs. 30,000/-
On 31% January, 2014 Rs. 4,22,000/-
On 15" February, 2014 Rs. 1,64,000/- and
On 15" March, 2014 Rs. 1,16,000/-
It was agreed that cash should be distributed as and when realized.

Dissolution expenses were originally provided for an estimated amount of
Rs.10,000/-. The actual expenses amounted to Rs. 6,000/- spent on 15" March,
2014.
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Prepare -

a) The statement showing surplus capital.

b) The statement showing distribution of cash.

03) 2)

Balance sheet as on 31% December, 2013

Rohan, Soham and Mohan were partners sharing profits and losses in
the ratio of 3:2:1 respectively. The balance sheet of the firm as on 31*
December, 2013 was as under

Liabilities Amount Assets Amount
Rs. Rs.
Sundry Creditors 6,000 | Cashin Hand 4,400
General Reserve 5,400 S. Debtors 15,000
Capital Accounts Stock 12,000
Rohan 22,500 | Furniture 9,000
Soham 15,000 | Plantand Machinery| 16,000
Mohan 7,500
56,400 56,400

The partners of the firm decided to dissolve the firm and to form a
private limited company to take over the business of the firm on the

above date subject to the following adjustments -

i)  The assets are transferred to new company at following values -
S. Debtors Rs. 14,000/-, Stock Rs. 10,000/-, Plant and Machinery

Rs.20,000/-

i)  The furniture was sold at Rs. 8,000/-
i) The new company valued the Goodwill at Rs.2,000/-

iv) The creditors of the firm are to be transferred to new company at

Rs.5,600/-

v) Realisation expenses amounted to Rs.600/-

vi) Purchase consideration is to be given in the form of 3,600 Equity

shares of Rs.10/- each and balance in cash.

Show the working of purchase consideration and find out the realisation

profit or loss to be transferred to Partner’s Capital Accounts.
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b) Neha Limited took from Ninad a Lease of coal field for a period of 10
years from 1% January, 2010. The said lease provided for the payment of
Royalties to Ninad at Rs.0.50 per ton with a minimum rent of Rs. 8,000/-
per annum.

Each year’s excess of minimum rent over the actual royalties was
recoverable during the subsequent two years. The lease however stipulated
that if in any year the normal rent was not attained due to accident, the
minimum rent was to be regarded having been reduced proportionately
having regards to the length of stoppage.

The output was as follows -
2010- 7,000 tones 2011 - 14,000 tones

2012- 20,000 tones 2013- 12,000 tones

During the year 2013, there was a stoppage of work due to accident
lasting for 3 months.

Pass necessary journal entries in the books of Neha Limited for all four
years. [14]

04) A Ltd. purchased heavy machinery from B Ltd. on hire purchase system on 1*
January 2010 paying Rs.10,000/- on signing the contract and agreed to pay the
remaining balance in three instalments of Rs.20,000/- each payable annually on
31 December every year. A cash price of the machinery was Rs.60,000/-.
B Ltd. charged interest (@ 10% p.a. A Ltd writes off 10% depreciation every
year on straight line method.

You are required to prepare necessary accounts in the books of A Ltd. and
give Journal entries in the books of B Ltd. [20]

OR
From the following Trial Balance prepare Departmental Trading, Profit and

Loss Account for the year ended 31% December , 2013 and Balance sheet as
on that date in the books of Parijat Departmental Store, Pune.
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Trial Balance as on 315 December, 2013

Particulars Debit Bal. Credit Bal.
Rs. Rs.
Capital 30,000
General Reserve 20,000
Stock on 1% January, 2013
Dept. Y 29,500
Dept. Z 26,000
Purchases
Dept. Y 50,000
Dept. Z 30,000
Wages
Dept. Y 12,000
Dept. Z 10,000
Carriage and Freight 800
Salaries 20,000
Travelling Expenses 1,500
Rates and Taxes 6,000
Insurance 10,500
Sales
Dept. Y 1,20,000
Dept. Z 80,000
Sundry Debtors and Creditors 12,500 7,500
Bills Receivable and Payable 2,500 2,000
Premises 14,000
Manager’s Salaries 5,000
Printing and Stationery 500
Discount 1,000
Advertisement 3,500
Plant and Machinery 15,500
Furniture 500
Fuel and Water 1,750
Incidental charges 450
Cash in Hand 1,200
Cash at Bank 4,800
2,59,500 2,59,500
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Following additional information is also provided -

i)  Stock on 31% December, 2013 Dept. Y Rs.20,000/- and Dept. Z Rs. 15,000/-
i) Provide R.D.D. at 5% on S. Debtors.

i) Wages Outstanding Dept. Y Rs. 600/- and Dept. Z Rs. 400/-

iv) Salaries Outstanding Rs. 4,000/-

v) Rates and Taxes prepaid Rs. 1,500/-

vi) Depreciate Plant and Machinery at 10% p.a.

vii) Value of services of Rs. 100/- rendered by Dept. Z to Dept. Y.

All unallocated expenses are to be apportioned on the basis of Turnover.

SASES
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Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

3) Draw neat diagrams wherever necessary.

Q1) What is Demand Estimation? Explain method of Demand Estimation.  [16]

02) Explain the Economic and non-Economic goals of firms. [16]
OR
Explain Internal & External economies of large scale production.

03) Answer in brief: [16]
a) State importance of revenue concept.
b) State the features of perfect competition.
OR
Answer in brief :
a) State the Ricardian theory of rent.
b) Explain the backward sloping supply curve.

04) Discuss the liquidity preference theory of interest. [16]

05) Write short notes (any two) : [16]
a) Importance of Collective Bargaining.
b) Modern theory of rent.
c) Innovation theory of profit.
d) Features of oligopoly.

SISIS
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BUSINESS MATHEMATICS AND STATISTICS
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Instructions to the candidates:

All questions are compulsory.

Figures to the right indicates full marks.

Use of calculater and statistical table is allowed.
Symbols have their usual meanings.

Both the sections should be written in same answerbook.

)
2
3)
9
)

Q1) 2)

SECTION -1

SEAT No. :

[Total No. of Pages : 7

[Max. Marks : 80

Answer the following multiple choice questions by selecting correct
options from the given options (any four)

i)

The LCM of 20 and 50 is
a) 20 b) 40
c) 100 d) None of the above

If x =52 x 1253 then x> =

a) S' b) 5%

c) 5B d) None of the above
The 25 percent of 1251s

a) 31.25 b) 3.125

c) 3125 d) None of the above
[£5:12::8: x then value of x is

a) 23 b) 24

c) 25 d) None of the above

[4]
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v) A student scored 180 out of 200 marks, her percentage is
a) 90 b) 925
c) 295 d) None of the above

vi) The value of (10)**° = (10)"* is

a) 100 b) 10000

c) 1000 d) None of above

b) Answer the following multiple choice questions by selecting option from
the given option (any two) [4]

i)  The two numbers are in the ratio 6:5 and their sum is 77. Then that
two numbers are

a) 42and35 b) 24 and35

c) 89and 106 d) None of the above
i) The H.C.F of 110 and 125 is

a) 110 b) 125

c) 5l d) 25

i) Ages of Madhav, Ajit and Dilip are in continued proportion. If
Madhavs age is 4 years old and Dilip’s age is 9 years old, then age

of Ajitis
a) 4 b) 6
c) 8 d) 10

[4763] - 1004 2



02) Attempt any two of the following : [8]

a) Explain the term bonus share.

b) What sum will amount to Rs.4,000 in 3 years at 6% p.a. compound
intrest?

c) What is the difference between simple intrest and compound intrest on
Rs.500 for 2 years at 10% p.a. (compounded yearly)

03) Attempt any four of the following : [16]

a) Define the term statistics. Explain the scope of statistics in management
sciences.

b) What is the EMI of a loan 0f Rs.1,00,000 is repaid in 5 years. If the rate
of intrest is 10% p.a. on the outstanding amount at the beginning of each
year.

c) Aditya holds 300 shares of Rs.10 each. The company issues shares in
the ratio 3:5. The company declared a dividend of 25% on the charged
capital. What is the average rate of return on his investment?

d) What are the requirements of good measure of central tendancy?

e) Calculate the median for the following grouped frequency distribution.
Class 0-20 | 20-40 | 40-60 | 60-80 | 80-100
Frequency 18 36 34 22 15

f)  Following is the frequency distribution of number of students according

to a marks scored in a certain examinations :
Answer the following questions :

Marks Below 20 [20-40 [40-60 | 60-80 | 80-100

No.of Students 18 36 34 22 15
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i)  State the type of classification

ii)  Obtain the class - mark of the second class
ii) Obtain the class - width of third class
iv) State open end class

v) How many students getting marks less than 80?

SECTION - 11

04) Attempt any three of the following : [12]

a) A man sold two machines at Rs.960 each. On one he gained 10% and on
the other, he loss 10%. Find the percentage of profit or loss in the total
transaction?

b) A commission agent gets 12% commission upto sales Rs. 25,000 and
15% on the sales exceeding Rs.25,000. In a month, his sales are Rs.67,000.
Find his commission.

c) A car having cost Rs.1,20,000 was sold for Rs.90,000 after 5 years.
Find the percentage of loss?

d) Solve the following L.P.P. by graphical method :
Maximize Z=5x+ 10y

Subject to
2X+3y <6

6x+10y >30
X y >0
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035) Attempt any three of the following : [12]
a) Explain the concept of commission and brokerage.

b) Cost price of an article is Rs.20,000. What should be the marked price
in order to earn 20% profit after allowing 4% discount.

c) A camera when sold for Rs.1,674 resulted in a loss of 7%. What was
C.P. of camera

d) A Manufacturer makes two types of lamps A and B, which requires
treatments by a cutter and a finisher. Lamp shade ‘A’ requires 2 hours of
cutter and 1 hour of finisher’s time. Lamp shade B requires 1 hour of
cutter and 2 hours of finisher’s time. The cutter has 104 hours and finisher
has 70 hours available time each month. Profit on one lamp shade A is
Rs 6 and on the lamp shade B is Rs.11. Formulate the above problem as
a LPP to maximize the profit.

e) Explainthe term:
i)  Linear programming problem

ii)  Constraints in LPP

06) Attempt any four of the following : [16]
a)  What are the problems in the construction of Index Numbers?
b) Calculate coefficient of variation for the following data :
10, 16, 30, 32, 12

c) Apanel of examiners A and B assessed 7 candidates independently and
awarded the following marks

Candidates 1 (2 |3 4[5 [6 (7
Marks by Judge A[40 | 34 | 28| 30| 44 (38 | 31

Marks by Judge B(32 | 39 | 26| 30| 38 |34 |28

Calculate the spearman rank correlation coefficient between two judges.
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d)

Find the combined standard deviation from the following data :

Group | AM. S.D Size
A 50 10 100
B 55 11 150

Explain the concept of correlation and regression. Analysis.

With the help of following data : Calculate Lasperys, Paasches and Fishers

Price Index Number.

Commodity 1995 2005
Price Quantity | Price | Quantity
A 100 8 150 6
B 25 10 45 5
C 10 15 25 10
D 20 20 26 15

Q7) Attempt any one of the following :

a)

Calculate Karl Pearsons correlation coefficient for the following data

Sales 14 119 |24 |21 (28| 22|15 (20 |19 | 20
Advertisement | 20 | 25 |22 (24 [29 |12 |15 |14 |13 | 10
6
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b) 1)  Given the following data, obtain the yield when the rainfall is

29 inches.
Rainfall Yield (per acre)
(inches)
Mean 27 40
S.D. 3 6

Correlation coefficient is 0.8.

i)  Draw the less than ogive curve for the following grouped frequency

distribution :
Marks : 0-20 | 20-40 | 40-60 | 60-80 | 80-100
No. of Students :| 5 12 22 18 10

Also locate the median from it.

SISIS

[4763] - 1004 7



Total No. of Questions : 6] SEAT No. :
P355

[Total No. of Pages : 4

[4763] - 1005

F.Y.B.Com
COMPUTER CONCEPTSAND APPLICATIONS

Computer Fundamental
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates :

1)  All questions are compulsory.
2) Figures to the right indicate full marks.
3)  Both sections should be written in same answer books.

SECTION -1

Q1) Attempt any 4 of the following. [4 x 2 =8]
a)  Which are the input devices.
b) What is the use of notepad.
c) What are the contents on ribbon in MS-word.
d) Define protocol.
e) What is mean by file ? state its attribute.

f)  Define E - commerce.

02) Attempt any 4 of the following [4 x 4 =16]
a) Explain types of computers.
b) Explain functions of operating system
c) What are the advantages and disadvantages of MS-Excel.
d) What are the need of computer network?
e) Explain various parts of data processing.

f)  What are the importance and uses of E - commerce?

PT.O.



03) Attempt any 4 of following. [4 x 4 =16]
a) Explain characteristics of computer.
b) Explain the process to search file or folder by using search option.
c) Explain charts in MS-Excel
d) Differentiate between LAN & WAN.
e) Explain Indexed file organization
f)  Explain functions of E-commerce

SECTION - 11
04) Attempt any 4 of following [4 x2=8§]
a) Define internet
b) What is mean by WWW?
c) Define EFT (Electronic Fund Transfer)
d) What are the attributes of table tag
e) What is static web page?
f)  What are the examples of web graphics?

05) Attempt any 4 of following [4 X 4 =16]
a)  Write short note on Evolution of Internet.
b) How Electronic data interchange process works.
c) Explain advantages of Electronic Payment Process (EPS) system.
d) Explain the attributes of Image Tag.
e)  Write short note on web design pyramid.
f)  Write short note on animation effect.

06) Attempt any 4 of following [4 %X 4 =16]
a) Howtodownloading a file? Explain with example.
b) Explain Financial Electronic Data Interchange (FEDI)
c) What are the steps in SET (Secure Electronic Transactions)
d) How to create and load HTML document page.
e) Explain web development process model.
f)  Write short note on uploading the websites.

SISIS
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7.1) YEredeht SIUTaEl IR 99T wiean [4 x 2 =8]
31) Input devices. ShiuTd TEa ?
g) Notepad =T SU=HT ST,
&) MS-Word wefiem Ribbon = qgg ferar.
g) Protocol =t =&t g4.
3) File o @ ? File = attribute ferar.
) E-commerce = sarean fergr.

¥.2) @refieTteht hIvTdgl TR I3 Trgal. [4 x 4 =16]
#1) Computer o JhR TI .
d) Operating System o TH I HT.
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g) Computer Network =it TRST Taee 1.
3) Data - Processing @ fafay fawmr wawe wu.
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7.3) WrefieTteht hIvTdgl TR Iy Treal. [4 x 4 =16]
a1) Computer < T TUE HT.
¥) File & Folder snermamardt search button @& aTUR shedl SATal o forgr.
@®) MS-Excel usfier chart Tase .
g) LAN sufir WAN usfier wes forgr.
3) Index File @ organization ¥use .
®) E-commerce @ &T& TI .

fawmr - 11
¥.4) @refietuht ShIvmdgl °Ir Ty dreal. [4 x 2 =8]
a1) Internet <t st fergt.
) WWW o & o forgn.
@) EFT (Electronic FundTransfer) =it samean forgr.
) Table tag = attribute fergr.
3) Static Web Page ot & ?
W) Web graphics =@ 3greur forar.

7.5) @refiettht ShIurdgl 9Ir Iy dreal. [4 x 4 =16]
a1) Internet =T ITH HEAT ATAT ATeR AT fou forgr.
) Electronic Data Interchange (EDI) @ %™ &® @Terd o forgr.
@) Electronic Payment System (EPS) @ ®TaE & dI¢ TUS .
) Image Tag ¥ attribute Tuse .
) Web Design Pyramid =R oigerma &a fergr.
) Animation effect sR airgarara dq fergr.

7.6) WrefieTtht hIvTdgl TR I3 Trgal. [4 x 4 =16]
31) File wyamaenrt download heft STd ? o IETEI0T Igd TUSE .
&) Financial Electronic Data Interchange (FEDI) ¥use 1.
@) Secure Electronic Transaction (SET) =& uta=an forgr.
g) HTML = document 93T YR create @ load et ATd o Tetgr.
%) Web development process model ¥aee .
®) Uploading the websites amar efrgerata feu forer.
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ORGANISATIONAL SKILLS DEVELOPMENT
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) State the importance of office layout. Explain in details the principles of office
layout. [16]

02) Define the term 'office form'. Explain the objectives and types of office forms.

[16]
OR
State the meaning of Goal setting. Explain the concept and importance of goal
setting.
03) a) State the functions of office administrator. [8]
b) State the types of office organisation. [8]
OR

a) State the methods of classification of files.
b) State the feasibility of digitalisation of records.

04) Define communication. Explain the significance and barriers to effective
communication. [16]

05) Write short notes (any two) [16]
a) Importance of public relation
b) Modern methods of public relation
c) Office Automation
d) Preparation of financial report

PTO.



Total No. of Questions : 5]

P356 [4763] - 1006
F.Y. B.Com.
ORGANISATIONAL SKILLS DEVELOPMENT

(2013 Pattern)
(A3t TUTAR)
9% ; 3 | [wegot 701 : 80
AT
1) @& 9y Arefau Ay ITTE.
2) STETRETA 37k TS YUT T gEIfaATd.
3) wEWTETSt He5 TS UvulIeht UgTEl.

7.]1) ®Eierdia oEe Uged 90T, R el acd Aioal Tse 6. [16]

¥.2) srEierd Tus A1 Syl SAredt Tgl. wEied YU 39 9 YR T . [16]
feRan
SgEreHTTad! a1 Heheu-ar el AT Heheu-l 9 Hged Ta &hl.

7.3) 1) wHETA UIEHRTET wrd ToTET. [8]
¥) wEeE ggear™ TR forer. [8]
feRan
31)  UTRERTEAT SITHRIUTEAT TEGAT TIE Hl.
)  oifchd AAFHTET SUFchdl TUEE Thl.

¥.4) wevragare sareat forgt. guret devreagarel Uged 9 SAS TaSE . [16]

7.5) feur forgr. (Fivreadt g9) [16]
) FAEUHE g
q)  SHEUERAT dAYHE gegdt
F) HEATAT TAAACA TR
g) fafva srgame aar =

SISIS



Total No. of Questions : 5]
P357

Time : 3 Hours]

SEAT No. :

[Total No. of Pages : 2
[4763] - 1007

F.Y. B.Com.
BANKINGAND FINANCE
Fundamentals of Banking
(2013 Pattern)

[Max. Marks : 80

Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the Right indicate full Marks.

Q1) State the meaning of Bank. Explain the evolution of banking in Europe. [16]

02) Explain the primary and secondary functions of Bank. [16]

OR

Explain types of Individual and institutional account holders.

03) a) Explain the types of electronic funds transfer. [8]
b) Explain the principle of liquidity and profitability. [8]
OR

a) Explain the features of promissory note.

b) Explain the types of endorsement.

04) Explain the need and importance of technology in banking. [16]

05) Write short notes (any two) [16]
a) Types of cheques

b) Core Banking

c) Mobile Banking
d) Types of crossing

SISIS

P.T.O.



Total No. of Questions : 5]
P357 [4763] - 1007
F.Y. B.Com.
deh SIIET™ SITUT TSgast
(T =TaEET= oda)
(2013 Pattern)
(A3t wataR)
9% ; 3 | [wegot 101 : 80
AT
1) @& 9y Arefau SIavaeh .
2) IWETRIA 3k Ui U gITferaTd.
3) wEEUTETE! gg SUS UgAUIHT UgTat.

». 1) sierar 3tel TR JUUTAIA Seh STTATATHT eIl TISE T [16]
¥.2) kel TATHE AT 28w 1A Tae . [16]
e
7.3)31) sl A FEaTaRue R Tt . [8]
&) TG ST ATHAT acal TACE hl. [8]

e

)  Fud vt afvrees wuse @,
)  YeBTRATS TR TUE AT

¥.4) sk SHTETETAT TAAHETR TR AT T TS . [16]

».5) feur forgr. (vt g) [16]
) YA TR
) ISR AR
®) HIETEA SemT
) @A ThR

SISIS



Total No. of Questions : 4] SEAT No. :
P358

[Total No. of Pages : 4

[4763] - 1008
F.Y.B.Com.

COMMERCIAL GEOGRAPHY
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:-

1) All questions are compulsory.

2) Neat diagrams must be drawn wherever necessary.

3) Use of map stencils is allowed.

Q1) Answer the following upto 20 words each (any ten) [20]
i)  Define commercial geography.
i)  State any two factors of natural environment.
i) What is meant by primary activities?
iv) State two characteristics of equatorial forest.
v) State any two names of Non-Conventional Energy Resources.
vi) Define 'optimum population'
vii) What is Birth Rate?
viii) Name any two centres of iron and steel industries in India.
ix) State any two advantages of road transportation.
x)  What is Tourism?
xi) State any two disadvantages of choropleth method.
xil) State any two products that are exported by India.

xiil) State any two types of graphs.

PT.O.



02) Answer the following upto 50 words each : (any two) [10]
i)  Determinism.
i) Commercial farming.
i) Divided circle method

iv) Agro-tourism.

03) Answer the following upto 150 words each : (any two) [20]
i)  Explain the nature and scope of commercial geography.
i)  Give the geographical account of monsoon forest.
i) Give the geographical account of cotton textile industry in India.

iv) Explain the geographical factors affecting international trade.

04) Answer the following upto 300 words each : (any two) [30]
i)  Explain the important factors of Physical Environment.
i)  Explain the population characteristics of India.
iii) Give an account of geographical factors influencing tourism.

iv) Compare various modes of transport.

SISIS

[4763] - 1008 2



Total No. of Questions : 4]

P338 [4763] - 1008
F.Y. B.Com.
COMMERCIAL GEOGRAPHY
(2013 Pattern)
(w73t FUTaR)
9% ;3 a| [wegot 101 : 80
AT

1) @d 9y Arsfaur meaveed e,
2) ATAvEE dA AT ATHT HIel.

3) TR RiHeH R URE TR,

¥.1) Wrefter TgAT=t Tkt 20 vrsgia 3 forgr. (HivTagt 228m) [20]
|) IO T sErEEn fore.
i) “afie gaieRume HIUME I gew AT,
iii) i sgaEE e w .
iv) Togaesia sRuaT=i SuE g Jfvmer |mm.
V)  STURUTReR SIS ShIuTdigl g A1 |,
vi) uate dremEEEt e o
vii) e U i ?
Viii) YRATATET RIVTAET S AGUIATE STNT Shg WA,
IX) T ATEIERIA HIVIAE G HTEE |
X) Uded TEU T ?
Xi) BT U gF qre |,
Xii) oA et Fom SoTdd 99 Seutes |,
Xiii) TTerET™ HIUAE g YRR WA,



¥.2) Wiefter agaret Teeht 50 ysgia 3 forgt. (RivTagt gi)
i) fretare
i) eamar® et
iii) e ade wed
iv) w uded

7.3) Wrefter geATE Tereht 150 vegia S forgt. (SR )
|) AU AT TR HATT SATH TaeE .
i) WA FATET Wit g .
iil) WAt et T ST WRTiTeTsh Jard @

V) SITaRTST SITIRIER IRUME ShuTR ST Ueeh TUse .

¥.4) Wrefter agArt Tedht 300 vegia 3T forgt. (SRivTdEt ge)
|) TThfde UATERUMTS WEeaTo Ueeh TUSE hil.
i) R et Sfvre T .
iii) TdeATar URumH HOTR YT e TUse .
iV) STETe TR qeTeeh fageisuT .

SISIS

[4763] - 1008 4

[10]

[20]
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Total No. of Questions : 4] SEAT No. :

P359

[Total No. of Pages : 4

[4763] - 1009
F.Y. B.Com

DEFENCE BUDGETING, FINANCE AND MANAGEMENT

Defence Organization and Management in India
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2) Figures to the right indicate full marks.
Q1) Answer in 20 words each (any ten) : [20]
i)  State the meaning of Logistics.
i)  Write any two functions of signal corps.
i) Define Military Intelligence.
iv) Write meaning of integrated defence.
v) State the meaning of five year defence plan.
vi) Define armored corps.
vi) Define sea-power.
viii) Write two responsibilities of Territorial Army.
ix) Define Grand strategy.
x)  State the meaning of military industrial complex.
xi) Define terrorism.
xil) Write any two functions of civil defence.
xiii) Write any two functions of CRPF.

PT.O.



02) Answer in 50 words each (any two) : [10]

i)  Explain role of National Security Council in India's defence planning.
i)  Discuss role of Territorial Army in National security.
i) Explain characteristics and limitations of Artillery.
iv) Discuss devices of collecting intelligence.
03) Answer in 150 words each (any two) : [20]
i)  Write in brief role of Navy during peace time.
ii)  Explain characteristics and limitations of Infantry.
i) Discuss powers of president in relation to the Armed forces.
iv) Explain role of medical corps during war time.
04) Answer in 300 words each (any two) : [30]
i)  Explain in details development of the India Army after independence.
i)  Discuss characteristics and limitations of Air-power.
iii) Explainrole of Administrative services in National Defence.
iv) Write a note on the role and limitations of signal corps.

SISIS

[4763] - 1009 2



Total No. of Questions : 4]

P339 [4763] - 1009
F.Y. B.Com.
T aSIEiT ®IEAE 3-8 HASTH=E
WRATA T EI8T0T Teed 3TUT sqaEATI=
(2013 Pattern)

(A3t FUaTaR)

¥ : 3 a] [T o - 80
oAt . 1) Hd U WISAul v .

2) STETREA I UT EHAAE.

7.1) 20 vregia IW AT, (HIUET F2T) [20]
i) Feasaaeud e forer.
i) fomer shicaa IR 9 ®TE 9 .
iii) Torefed s=defiaa samean ==,
iv) “‘s<res fewmm’’ ered forar.
V)  EREIUTTE UeraTieh Il WU R ? otef forer.
vi) “‘omERg i ST .
vii) “amtt wmed’’ swen o .
viii) UTefteR TFean g AeTeean g .
iX) “Ure TS et g .
X) Thefielt Tetdiae wiraciad TguTsl &1 ?
Xi) TEIAETS SATEAT ST
Xii) AN TS g W TG
Xiii) st e UretE gere 3 w1 g w0



7.2) 50 vrsgia 3T AT, (SRIVTAEt §H)
)  WRATeET SRETUT AT TEE GReT W@l YRt Taw .
i) T grdEewta TR dereerean itk faweht ==t .
iii) drRETTEETEt af¥re srfur wEier Tt .

V) IfeEeRTE UTH sRvEtawEe fafay su™ - uegdt S Tt o

.3) 150 vreqid 3w AT, (HIURE F)
i)  TaaT ATEEETd e AgaTe st drgwaTa g &
i) urEeT= afvret enfur water Tuse ww.
iii) T BATEEATeAT HeuTa WegudieaT TfereRrfara=ft T .
IV) gegerTebTdicl HEIehel Shivd<l HehRT TUTE .

7.4) 300 vregma W TAT. (HRITAE! qH)
) TETAEER AR SISt AT forehTd TUse .
i) gard ameath afvrwea snfor waier wuse w0,
i) W e fafay gmedE SaTet i Tute w510
iv) Rracrsrivaean waier HATfoT qfweRT arer feuun forer.

SISIS

[4763] - 1009 4

[10]

[20]

[30]



Total No. of Questions : 5] SEAT No. :
P360

[Total No. of Pages : 2
[4763] - 1010

F.Y.B.Com.
CO-OPERATION
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) State the objectives, Nature and scope of Co-operation. [16]
02) State the principles of Co-operation [16]
OR

State the contribution of Padmashri Vithalrao Vikhe Patil to the development
of co-operative movement in India.

03) a) Explain the types rural and urban co-operatives. [8]
b) State the problems of co-operative education and training in India. [8]
OR
a) Evaluate Co-operative Education and Training Programme in India.
b) Describe the progress of co-operative movement in India.

04) Explain the role of Government in co-operative movement in India. [16]

05) Write short notes (any two) [16]
a) Rural Co-operatives
b) Objectives of co-operative Education
c) Weaker sections co-operatives
d) National Counciltor Co-operative Training

SISIS

PT.O.



Total No. of Questions : 5]
P360 [4763] - 1010

F.Y.B.Com.

HahX
(2013 Pattern)

(A3t TUTAR)

9% ; 3 | [wegot 101 : 80
AT
1) O g9 wrefaor srmavaes e,

2) STETRETA 3Tk TS YUT T g,
3) HeWiETS! Yo U TeufrenT UgTel.

¥.1) agwnret 3fewe, T@eu O sarHt an. [16]

¥.2) AghNT=l qed T, [16]
Teran
qgasht fagewa fo@ urdiel 9w WRaTde gt aeasiedl faemETde areH
ferwg =

7.3)31) WEgHI UTHUT U7 AT FETo ThR TS . [8]
¥) WRATde wgehtd freror smfor ufdteror swriskaan wHeat wuse w0, [8]
Teran

) ARGt gt foreror Srifor uidvterur skt HeaamaT .
) WRATAA Al ABacsieal e Jui .

¥.4) ARATA A Tgehil Tbassidiet IME-Te JHeRT Tate &, [16]

¥.5) errgerama feur forgr. (woreatdt gF) [16]
) UTHUT AgRT Txe
) Tt v =
®) TAA dehHTAT HghT TEAT
T) U wEewRl ufvreror uiteg

SISIS



Total No. of Questions : 5] SEAT No. :

P361 [Total No. of Pages : 2
[4763] - 1011

F.Y. B.Com.
MANAGERIAL ECONOMICS

(2013 Pattern) (Theory)
Time : 3 Hours] [Max. Marks :80

Instructions to the candidates:
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

3) Draw neat diagrams wherever necessary.

Q1) Explain nature and scope of Managerial Economics. [16]
02) Define elasticity of demand. Explain the types of elasticity of demand.[16]

OR
Explain methods of demand forecasting.

03) a) Explain objectives of firm [8]
b) State usefulness of short run cost analysis in business. [8]
OR
a) State usefulness of capital budgeting.
b) Explain concept of Average rate of returns.

04) What is cost-benefit analysis? Explain steps in cost benefit analysis. [16]

05) Write short notes. (Any Two) [16]
a) Concept of total cost and marginal cost .
b) Income Elasticity of Demand.
c) Variable cost
d) Investment for replacement

W R

PTO.



Total No. of Questions : 5]

P361
[4763] - 1011
F.Y. B.Com.
TIETATART AT
(2013 Pattern) (Theory)
(vt TUTaR)
gz 3 71| [w=5or 77 - 80

e :- 1)  ad 97 Sa9aeE HTed.
2) IwEIEwSIT 3 YUl T FIIEAra.
3) oTavae dd Gad HTHET HIET.

gy7 1) HEEATUhIT SV TEEy ATfur s farere @, [16]
g7 2) WU ataeRdr favig . AT dafede YR fave wa. [16]
Teram

WO YA et gt forg @
gy73) A) cHewTET=t 3R fowg . 8]
) TFAEETAA AT Ay Tl SughaT |, [8]

T

) HISTATSAT FETSATE IUTHAT |F.
)  AOEN AT GO Heheut favtg .

gy7 4) @ oy favea o wE ? " oy faveArean = v« [16]

g7 5) g feur forgr. (Furerd 39) [16]
A) THU G 9 HHE T G
q) HEUN SeUd dAaterehdl
®) Aqedr @
¥) AqAETE! YA

R R



Total No. of Questions : 5] SEAT No. :

P362 [Total No. of Pages :2
[4763] - 1012
F.Y.B.Com.
ESSENTIAL OF E-COMMERCE
(2013 Pattern)
Time : 3 Hours] [Max. Marks :80

Instructions to the candidates:

01)

02)

03) a)
b)

1) All questions are compulsory.
2)  Figures to the right indicate full marks.

3) Give illustrations wherever necessary.

Define electronic commerce? Explain concepts, features and functions
of e-commerce? [16]

Explain types of e-commerce and its service provider [16]

OR

Define Internet ? explain its Role and procedure of registering internet
Domain

Define Digital Economic? Explain its impact on business process. [8]

Explain following terms. [8]

N

a) e-banking
b) Digital signature
OR
a) Explain state of e-commerce in India.

b) Explain e-commerce security

PTO.



04) Whatis e-ticketing? Explain any two online booking procedure.

05) Write short notes. (Any Two)

a)
b)
c)
d)

Scope of e-commerce
Mobile commerce
e-finance

EDI components

R R

[4763]-1012 2
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Total No. of Questions : 5] SEAT No. :

P363 [Total No. of Pages : 2
[4763] - 1013
F.Y. B.Com.
INSURANCE AND TRANSPORT
(2013 Pattern)
Time : 3 Hours] [Max. Marks :80

Instructions to the candidates:

1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) What is insurance? Explain the scope of insurance. [16]
02) What is mean by life insurance ? Explain the need of life insurance. [16]
OR

Explain the importance of transport in indian Economy.
03) a) Explain the need of social security [8]
b)  Write short note on 'opportunities in general insurance business'.  [8]
OR
a) State various hazards in logistics.
b) Explain the role of tourist guide.
Q4) "Tourism plays an important Role in Indian Economic Development" Discuss.
[16]
05) Write short notes (Any Two) . [16]
a) Difference between life insurance & general insurance
b) Various modes of transport
c) Opportunities in tourism business
d) Merits of air transport

R R

PTO.



Total No. of Questions : 5]

P363
[4763] - 1013
F.Y. B.Com.
o smfur aTgges
(2013 ved)
(vt wUTaR)
g 3 arg] [@gor 707 - 80

geAr - 1) @9 F97 GISHE0 HATTvIE AT,
2) IwEIHSIT 37k FYATA GUT T FIIEATA.

gy7 1) fom o % ? feam=ht st wow . [16]
gy7 2) Frem formn ot & ? S foemht e wE w6 [16]
femar

anifefer faeRmamed aTgqehiel HEed TUY .
gy 3) ) wETRR G TR T w. ? [8]
¥) “‘arymor T sgaaETdie Gt garer du e [8]
e

) WANEEIRATIS ASUD A
q) U ARIGUIGhTeN qiHeRT L .

gy7 4) “‘andim enfdew e wied ugaarst Y awtad’’ arer =t w0, [16]

gy 5) feur fergr. (shroreatdl M) [16]
&) e feur enfur wemor fomm ardier ween

¥) aEqeh fafayg ger
®) Uded HTEETde el

T) FATS AR WG
R EREK



Total No. of Questions : 5]

P-364

[4763] - 1014
F.Y.B.Com.

MARKETING & SALESMANSHIP

Fundamentals of Marketing
(2013 Pattern)

Time : 3 Hours]

Instructions to the candidates:

01)
02)

03) a)
b)

a)
b)

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Explain the factors determining buyers Behaviour.
Describe briefly the classification of market.

OR
State the factors of marketing environment.

Explain product life cycle.

Explain the objectives of logistics management.
OR

Explain the significance of market promotion mix.

State the significance of services in marketing

04) State the problems and challenges of rural market.

05) Write notes. (Any Two)

Scope of service marketing.
Importance of rural marketing.
Types of marketing channels.

Pricing methods.

SEAT No. :

[Total No. of Pages : 2

[Max. Marks :80

[16]

[16]

8]
8]

[16]

[16]

PTO.



Total No. of Questions : 5]

P364

[4763] - 1014
F.Y.B.Com.
MARKETING & SALESMANSHIP
Fundamentals of Marketing
(2013 Pattern)

(TSt Faiar)

gz . 3 ard|
e :- 1) @F T97 AISIA0 Sa9q% HATEA.

2) IFFIESIT Sk TPTR GOT U7 GO,
3) Hewlarst e U 9T i ugTE.

[ gzor 777 : 80

797 1)

97 2)

97 3)

97 4)

97 5)

TEERT gd= SUSUIN U2k Y &,
FIRUST fieRtuT oigeaTa fervre .

ferent
feraum v=teRU= gew |,

) aE Saesh TE .

) YU ATYH ATEATIATS I T .
e

o) e foska gedt fuser wgea T .

q) TaUuETde daTe qge |,

JTHIT TR U= THEIT ATIUT 3Teg |,

feun fergr. (roTadt 59).
1) war fauuET ST
¥) 7o fouER AEe
%) Tomtor anTe weR
g) Thwa fuiome vt
B &K

[16]
[16]

8]
8]

[16]
[16]



Total No. of Questions :5] SEAT No. :

P-365 [Total No. of Pages : 3
[4763] - 1015

F.Y.B.Com.
CONSUMER PROTECTION AND BUSINESS ETHICS

(2013 Pattern)
Time : 3 Hours] [Max. Marks :80

Instructions to the candidates:
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

0l) Define the term 'consumer'. Explain the scope and importance of
consumer movement. [16]
02) Explain the redressal machinery under the consumer protection Act,1986.
[16]

OR
Explain the provisions in right to information Act,2005 Under the sections

4 10 6.

03) a) Write a note on "Ethics of production" [8]
b) Explain the nature of business Ethics. [8]

OR

a) Explain the general principles of united nation's (UN's) Guidelines for
consumer protection.

b) Discuss the ethics of accounting information.

04) Explain in detail the Ethical issues in marketing and human resource
management. [16]

PTO.



05) Write short notes (Any Two) [16]
a) Objectives of consumer education
b) Scope of business ethics
c) Social responsibility of business

d) Challenges before Voluntary Consumer Organisations (VCO's).

W R

[4763]-1015 2



Total No. of Questions : 5]

P365
[4763] - 1015
F.Y.B.Com.
TR T T R e
(2013 ded)
(vdt wUTav)
Je . 3 7rd] [@ggor 7o - 80

gaar ;- 1)  &d 9T qSTA0 Sy 9.
2) IwEIESIT Sk FYATH YUT T FIIEATA.
3) @gYIAIst ged SHST TIArAHT TgTal.

97 1) UTgeh A1 Hehou-et SATEAT S UTgeh ABacIei saTHl o Hged ¥ &, [16]

97 2) UTgeh WU ST, | 9863 ia STEUM UTgeh dshR fHaRur F=ron Tog . [16]

TeRar
TifEet stferer whraet, 2005 HEeT et 4 4 6 AT AHUTAT aXqg! TIE Tl.
gy7 3) @) feu =m: seurgaT=ht Hfagex [8]
) e Ay T@eY T . [8]

TeRar

) T TTEHTE JTgeh TV AT Tl T8 .
)  TEl I T Argdret Ataged.
Ty7 4) Taaum snfor wa wETeR sgEEaTOATde Afae geg afeem wE @& [16]

gy7 5) feur =n. (SwrorET@ TF). [16]
H) UTEeh oreromeR SRR
) ETEETEe Hdigeare e
®) TIAETE AHINTG TETEER
3) TNl UTgeh AHEATHHRIA STTegH

W R



Total No. of Questions : 5] SEAT No. :

P366 [Total No. of Pages : 3
[4763] - 1016
F.Y.B.Com.
BUSINESS ENVIRONMENT AND
ENTREPRENEURSHIP
(2013 Pattern)
Time : 3 Hours] [Max. Marks :80

Instructions to the candidates:
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Define the term Inflation. Describe in detail the causes and remedies of Inflation.

[16]
02) What is the Entrepreneur? Explain the distinction between Entrepreneur and
manager. [16]

OR

What do you mean by depletion of Natural Resources? Describe in detail the
reasons of the depletion of natural resources.

03) a)  Write a detail note on Non-Government organisations (NGOs) [8]
b)  Write a note on district industries centre (DIC) [8]
OR

a) Explain in detail the entrepreneurship of economic theory.
b) State the habits of Entrepreneurs.

04) Describe Entrepreneurial career of Narayan R. murthy. [16]

05) Write short notes. (Any Two) [16]
a) Information of any successful entrepreneur from your area.
b) Entrepreneurship development Institute of India (EDII)
c) Role of Entrepreneurship.
d) Entrepreneurial behaviour.

PTO.



Total No. of Questions : 5]

P366
[4763] - 1016

F.Y.B.Com.

BUSINESS ENVIRONMENT AND
ENTREPRENEURSHIP

(2013 Pattern)

(vt TuTaR)
gz 3 71| [=5or 77 - 80
Jeqr:- 1)  ad 97 AISIa0 99 ST

2) I9AIHSIeT 3 guf JuT FIAATa.
3) deuladt ge Ut gvT-ulder vgral.

gy7 1) AEHETE AT G STEET O AEEEE Rl ST USRI | feeRaot
Ui T . [16]

gy72) IR —TEUTS 1A ? IEISTh SATIUT SHEEATUeh ATeaTHEN Wleh TI8 1. [16]

TR
Jufiter FEIEATET g ATATEA SATIUTE k1 A il ? A\iiTeh AL

ETET O FIEARaul JU .
g7 3) 1) Tom-wmadE wwer (NGOs) amer afeem @ forer. [8]
) fregr 3@ Sg (DIC) arer & fergr. [8]

TR

HA) IERdY i faegia afoeawau Tag .
) ISR GEH AL



¥y7 4)  ARTEU SR et AreAn JewhTa wRfRdT Ui . [16]
yg75) fem formr. (o gm). [16]
o) G WIS WU TvRE SeerehTh R,
F) wRdE S e weer (EDID)
&) SEehdel YiHe
T) TN T

R R
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Total No. of Questions : 5] SEAT No. :

P367 [Total No. of Pages : 4
[4763] - 1017

F.Y. B.Com.
FOUNDATION COURSE IN COMMERCE

(2013 Pattern)
Time : 3 Hours] [Max. Marks :80

Instructions to the candidates:
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) What is Business Organisations? Describe the various forms of Business

Organisations in detail. [16]
02) a) What is N.GO.? What are the advantages of N.G.O.? [8]
b) Important features of Current Labour Policies in india. [8]

OR

a) Describe advantages of A.T.M.
b) Describe the importance of Logistics.

03) Define SEBI. State its guidelines in detail. [16]
OR
What is Commodity Exchange? Describe working and procedure followed in
Commodity Exchange.
04) State the meaning of following terms.(Any 8) [16]
a) Automation
b) B.P.O.
c) Brand Equity
d) LS.L
e) ZeroBase Budgeting
f)  Hacking

g) Fringe Benefits
h) Logistic

i)  Subsidy

) Yellow Page

PTO.



05) Write short notes. (Any Two)

a)
b)
c)
d)

Local Commodity Market
Business Ethics
Protection and Education of Investors

Online Trading

W R

[4763]-1017 2
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Total No. of Questions : 5]

P367
[4763] - 1017
F.Y. B.Com.
FOUNDATION COURSE IN COMMERCE
(2013 ded)
(vdt wUTav)
g 3 arg] [@gor 707 - 80

geAr - 1) @9 F97 GISHE0 HATTvIE AT,
2) IwEIHSIT 37k FYATA GUT T FIIEATA.

gy7 1) AT WU WU HE ? SR Suedrean fafay yeniet aferar ==t &

[16]
Fy72) @) TA. .o U & ? TSI o wEe foran. 8]
9) URATdI Tearean Afie SRuT Ugere afsea forgr. [8]
e
) UAH.TH. T wEE™ FUH B
q) ‘wifaredd’ = HEge quH W
g7 3) Wt =it sarEAn . Asfiean Anteyieh ded |ieEaR |, [16]

fepent

TEgfafima U S ? aEqiTE AeY ST STt WU ErEvedt @
gferan auia .



g7 4) @reiter wren 9 forgr (gl o1s)
AH) Aty
) oft.d.e.
®) s Rt
g) A, TH.IME.
3)  YEATenRa e
w) #Rm
T)  SIVIRTR oH
T) AT
@) warE
q) T U

Gom ) o e (s A

&) v aegiafee aer
) wmaEre Fiaw

%) T[AAURERTY TRETUT T foreror
g)  3tiaeTed e

R R
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Total No. of Questions : 5] SEAT No. :

P368 [Total No. of Pages :2
[4763] - 1018

F.Y.B.Com.
ADDITIONAL ENGLISH
(2013 Pattern)

Text book -Gems of English Prose and Poetry
Edited by : Ashok Chaskar
Vijay Madge
Anand Kulkarni
Time : 3 Hours] [Max. Marks :60

Instructions to the candidates:
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Attempt any one from (A) and one from (B) in about 100 words each. [12]

A) 1)  Whatis the writer's opinion about advertising ? What, according to
him are its greatest evils?

i) Comment on the central theme of "The world is too much with us'.
B) 1)  Write a character sketch of the fortuneteller.

i)  What picture of modern society is presented in 'Once upon a Time'?

02) Attempt any one from (A) and one from (B) in about 100 words each. [12]
A) 1)  Whatisthe reason for the traveller choosing the less travelled path?
i)  Draw up a character sketch of the narrator in 'My Financial Career'.

B) 1)  Whatisthe significance of the story of the youngman at the beginning
of 'Good Manners' ?

i)  What kind of Freedom does Tagore desire for his country ?

PTO.



03) Attempt any one from (A) and one from (B) in about 100 words each. [12]

A) )
if)
B) i)
if)

What difficulties does Ray visualize in creating films that show
contemporary Indian life?

Comment on the use of silence and tears at the beginning and at the
end of "When We Two Parted'

What are the sufferings of the African Americans listed by king?
How does Walt Whitman use different words to show the qualities
of God in the poem?

04) Attempt any one from (A) and one from (B) in about 100 words each. [12]

A) 1)  What solutions does Aruna Roy recommend to ensure that the
disadvantaged section of society get a better life ?
i) Comment on the central idea of 'The Lotus'
B) 1)  Whatare the horrible things that have possessed the earth, according
to Swami Vivekanand?
ii)  Sketch the character of the alienated father in 'Father Returning
Home.'
05) A) Attempt any one from the following in about 100 words. [6]
i)  What did Maugal singh hope he could do instead of working back
to the barvacks?
i) How does the poet describe the various stages of life in 'All the
world's stage' ?
B) Attempt any three of the following. [6]
i)  Give synonyms of the following words or expressions.
a) friend
b) sad
i)  Give antonyms of the following words.
a) simple
b) narrow
iii)  Give noun forms of the following words.
a) reflect
b) teach
iv) Choose the correct alternative and rewrite.
a) They  achance to win the competition (lose/loose)
b) Sharad's researchis onthe  of pollution (affects/effects)

[4763]-1018
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Total No. of Questions : 5] SEAT No.

P369

[Total No. of Pages : 3

[4763] - 1019
F.Y.B. Com.
MARATHI

TR d IS TSt
(Fan IrvaTHgEA)
(2013 Hed)

: 3 ] [ 7ggor 777 : 60

FvgTEqEas: 1) awmen ¥ fEw
2) waragie @ Iudifva et

gear .~ 1)  &@d o7 @istavt savae o

2) SwdidEier i TvTE Ul T Ffaard.

97 1)

797 2)

WifeTeTdeh! shivteaTet Tent fawamer 500 vreata Fae forem: [10]
i)  SgISTeRar eaTfur Wi
i) Tt foreror geadt

Eferer Tht FITATE g8 TeATe 3w AR 20 vreqra forgm: [10]

i) =i oftm @ A gfte Feedr RUETE 39 wdt egerst @
forr?

i) oA TR T UREE g1 YRR Il TRTEHTEEEH (HesTeT ?

iii) <. I\ areRae Tren e gRon et s g gar?

iV) Sf. T TR RIUTET et O avrmen faem wran s
TEEH ITE.

v) iz wear weihen s wuaETet vt 9 e ?

PT.O.



Vi)
Vii)
viii)
IX)
X)
Xi)

xii)

21, oo e =it S e et ?
. STATS A"l AT hTedieTaes vl A ATTAET T SHRH ?
Tayars wuwTe A wTuEehT vl fPreRae ?

oft. gowHteg T Hl. HHO ARISAT ATelt AETeATe! Waredl It g
fowmmoft armg ?

wreR Wit feforer areht ufgeft wen o arfreRTgs ST e1reft ?
.78, FAhUIt ATt SATaETEATa fegh TEuaTat HisT ey ShiumT Wie ?
Al ARt T ShIVTAT T STEq TTSA 374 ?

g973) WIfeTeTdehl ShIUTTEl O Tyl 3w forgr ¢ [20]

i)
i)

i)

Vi)

g7 4) )

[4763] - 1019

THEAT TS STEa=sd fawet |Y. Wremat=n 31t .

et Aeaadl wgert soha Yetrear aramdret 20,000/- FeiedT ARTUETSt
oft. 1T shera =t orst Rt 3. ot fergr.

qE= METde fuarean utoft vt Hewid e ot g we
T TATATA AT A 3faaw ferar.

Prasaudt e Tt TaeEds JaedT HIURESTEE! draradt e
15% SATHIITT=N 0T Shedt ATE. TTEaEf= SNUMuseh a9R .
qiiged UHl AIESHe areATadTETe! oty Tt gEaswet @at
HEAT . ATER fAfeaer o= .

qHEAT HETETeraT=at 7udt faummean s T ey oes i
ATIS HAGATE AT ATHTS! AT g U= qa” .

WITAATRT HIVTEATE TehT TEAT IR forE: [5]
i) “Fret wgaTE’ o ATEeAT T TENheUTS JRUATEE R AR
<hT.

i) ‘omg’ SgSeita AT HESAT S STere, gut A Hithd @ETh
faamz wgeT A wvaTd Iq o, o7 fawarer ER Fee

I <hlT.



F)  WfereTieh! THIvTEl UTe aTReTes ww fere: [5]

1)  Affidevit

i) Budget

i) Circular

Iv) Internet

v) Notification

vi) Trade mark

vii) Voucher

97 5) Wiferer Ul IAT=ATa HAST Wi ol [10]
It would be ungrateful not to recognise how immense are the
boons which science has given to mankind. It has brought within the
reach of multitudes, benefits and advantages which only ashort time
ago where the privilege of the few.It has shown how malnutrition,
hunger and disease can be over come. It has not only lengthened life
but it has deepened its Quality . Fields of knowledge, experience and
recreation, open in the past only to a few have been thrown open to
millions. Through the work of science , the ordinary man today has
been given the opportunity of a longer and fuller life than was ever
possible for his grandparents. Most thankfully we must acknowledge

all that science has done and is doing for the welfare of our race.
feran
T IATATA Teh TATI ARIEA HEA T THUS I .

S FE A A TE. TR ATS 7T AT ulgent T, forer = s s
ATICITAT T TFet 35 hed Taeit, sTaeaTe semae et afgert
HaERE Sfur fifa freror e, 9ot IR AT et 8 stdeaTen
FrEfIATd, o ATUA Alfheh T&. TINeTh ATUCATAT TIThRfaara Fgurel FHT=
ATTEet e CaTd. FATT ST | ST ATd o TR TE. T FHA T g I
T TE A, TY AUA TH 3T, a A daqeh ATior fisrgdt sm T,
HUTESTA THT AT STATIVATH! o T UTETA STEATA. FET AT TU9T HAuaTe
RIS, T, ATTA TR AT o IYGT grETdrd. FATUTA HIUTH U1 9
TI3uT, it Seama o @die G, TR S Aumias ATgl, T & I9md
frator greren geriaE! (srsgEEaT-115)

R R
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Total No. of Questions : 4] SEAT No.

P370 [Total No. of Pages : 3

[4763] - 1020
F.Y.B. Com.(9om o€ arfored)

B
(2013 ded )

a3 el
UgaqEae : 1) T uiwme
HUTEh:~ Bi. GHTT TART
i, UWdg A%
2) u9g ufwe
HUTGh:~ Bi. GHTT TART
st erfaar N

gaare :— 1) @t g srfiard §)
2)  F ot ot o TET 3 Uit B

[ gorie - 60

gy7l) TrafaRaa & @ feedt @ wvat & SW @ & forfau:
i) ATy w1 uiE o fifu)
i) wrgfag T STEERdt @ areT i dter fean?
iii) ‘vragua fRerTeet @1 T SRuTETE B T S|
iV) ‘ugefl TR’ el i SETeHRAT TE whifTu|
V) WEg el @ ghauta (Szv) faRem)

gy72) Tratafaa § @ fedt &= gt & S wew ¥ el
i) ‘T g % waH A, wmﬁmgé?

i) F deEmh w1 scog e @)’ ven wfa F=ai wed 20
iii) ‘v IR f emeit’ widar o gamT wiar FaT Hewr <A E?

iV) ‘Agsaar i st Wi T i

V) ‘g’ i % e § et Fen e agd 3 7

[15]

[15]

PT.O.



37 3) )

3)

g3T4) @)

[4763] - 1020

Frafefaa o @ foret ueh sraaiun 6t wEey s fifke: [5]
i) At TR A TaT ueh| 39 oftg U ® g e @ e, fon, z\
TS H RIS WS R E?
i) T Todr A8 7, g0 o R T o | # R oA ot A i |
fegam == & T B A ot A o € @ |
Frafefaa o o fordt s staaor 6t waey saren Hifu: [5]
i) < wem 3 faerm, w9 sifse
TeeR off g A1 WE W T 7 BIfgN|
Irte et 9 § Sfea & @1y g
ATRITHAT o aTg it meT 7 Bifsu|
i) TER ¥ 9gd AEE g WiC q G
g AR FET R whuT & 915 ot g
Srafeh Rt Asaar otk Ush et 3T |
el ol Hehd! 2|
Frafafaa o @ fordl aiwr gt & -t oo ® s fafe@: [5)
i) U @ & HA AT AT o977
i) =TET WRel U W2 i fohe AT § YR A ?
iii) ‘weEwg’ wEe % wEHeR w1 9 foRaw ?
iv) ‘stfiraer’ wgrt Y ATRreRt @1 AT T 22
V) ‘g’ wiaar % hid i g e
Vi) i asaAslt % HAT{ER AT % WIS o TR T g 7
vii) ‘et W wwa wier & Wieaw ¥ wiy R o Hew od 7
viii) ‘ue sr R smen” tar wia foret whga B 7

Freafafaa @ & foaedt ot wregi o Tt wrfvanfues vreg forftea: [5]
1)  Account

i) Boom

i) Currency

Iv) Demand



3)

[4763] - 1020

v) Financial

vi) Installment

vii) Pay-slip

viii) Qualification

Frafafaa o @ fedt wer fommmum &t strepdes @ dam difk: 5]
i) OTR ¥ g A8 W™ T MThRYh fasmua |

ii) o, 99, S STt % fou ergdfas ae w1 fasmoE |
FrafaRaa ufese =1 = fagE & areea (deuoT) Hif: [5]
T hl AT A R hT TAT ATl g, TSHT T TgH| TSH T gdt av
IR Y TTAT W Tl gl SAEH hr STt iR fydh wAgfost A avft
et g1 a1 a1 91, FRefe veg oft JeRR TE gra TATHTUT haet |
vTegt & T RaeTd W, wifeha o o1t fRees v1sgt ot T=RT SIS Tehat
F1 g 2, vreg o ared ferafe € Ger gu R i arrsftam &) t@q gu ot T
T@ T 9 o ¢ | Ug 30 ol S AT S ATl B § S IR Tl
og 3t o7 ot §, 99 g1 TH-gE I TR ot ST B 9T g

W R



Total No. of Questions : 5] SEAT No. -
P371 [Total No. of Pages : 2

[4763] - 1021
EFY. B.Com.
GUJARATI

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Aot 72| 2V e Sls [Ty MR ey (2% ]
ALY

¢ L Heme)

(2) ’%? é r}\élrysf”m iﬂgﬂﬁy e

(3) SR HIEAIR M2

o'ub/{lq ob}_—em,

a2

ap
\ N\ 4 ~ \ "~
Waeea B'Y Ue) 18 Mtel) &ifaeaz Gz et [15]

v 2s] et g2 ceeiof] (emare si3el] .

? :1 a {
CR> ‘/;2(3_501/} qu}gbﬂ;ﬁ, olﬂl(’!bﬂzj(\(*ﬂ 0‘1/4'/)1”;"7

s \
&2 3 ‘fﬂi}w%‘”/) Sred e ob\t% ﬁ%ﬂ;\lﬁlﬂqﬂﬂb KLY
@'qa'c Cﬂh'x\.-
. (\ (‘\ P\
c1) RLERT) ).15((] Bl =0tor Criss1_ 812,
(2) o{ggazs»@)' Hero] ~ Yot 21 )

Yooy o0 ZEME Gty Cslef Myl 21s) coc]
| () Baigqs
(R) FHot1oA] e,
CocJ

(S ) °
) %8‘»2/1% A1 Efqeﬂ GQILET
()" sterefsl] Gum’ g ey glaA] o0101]

PTO.
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) o) N
U Hegy gl w2 o] o2
> ery eeL g orcl] el

3) &@{:Hov o1 evtizeusf] e HET ST 22y
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(x> o sef] sl g sqsa 9

e ian =285 ENED Cﬂouﬂj; HEY o ]

Ay
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Rt Y]
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Total No. of Questions : 4] SEAT No. -

pP372 [Total No. of Pages : 4
[4763] - 1022

EF.Y. B.Com.
SINDHI (Devnagri)
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 60

garer 1) ¥t i e fr wef garety s s Rt - [20]
) IR R g wE a7
i) e @ wieer vt gen ?
il)  Srere % et <ft sreeEn W gg ?
V) ometer oree @i avei B A
V) R e @ i argieeh et ?
Vi) oot am mei gt whe Rrefiet § o 7
Vii) Ot deER ¥ wngg et %Y het ger ?
vil) Svardt Safter st farem e e <t frdter afe oy desh 3 ¢
ix) fawfier sidter @ smomaTd form oz Wi T Mg ?
X)  TehwT, WS © fohet HieRerop =iz € Bt ?
xi) fvm & ofvs, A @ B % AR # wd e R 7
Xii) foraTe aferm wfter, el vt @ wiegt eneg fo At ?
xiii) arefte  shersemen < sfera T § wRE v e @ ?

PT.O.



garer 2) efeaf i foha T Tl garerty s o, R R erfeher 50 ooty # foren

[10]
) TIERIR, Gegeish U STRcAIsh W1 Shigel Al aigal agfert U ot ?

i) ‘g5 9E S W AORE W S % o o’ ciiRasht Gadl Sauagruiiel higster
fft szt e ?

lii) 319 hreg SR N U™ TR e ?

iv) vee et @ wigegl srafeg & et emg ?

garer 3)  efeafa @i fohm far ferfy garers s wams aodfieraw forat [20]

garer 4)

[4763] -

) Fon S e TR S T s
i) feftor St eI .
i) ‘weg few WUt oA g Aferd Wil

V) vt W foet St ereerren hist gt oft ?
feafs =t & far e fowm @ wowg foran - [10]
) =eEg WS

i) e Gfeh Teh Frm |

iil) eI S e

363838
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Total No. of Questions : 4]

P372
[4763] - 1022
EF.Y. B.Com.
SINDHI (Arabic)
(2013 Pattern)
Time : 3 Hours] [Max. Marks : 60

Lofd i Lo ollew e 2 ws ol cndin ) Jiguw
(52 95l ¢y LS o9 oL |
Pln s s of Apeole
fiie oo W wo IS oo ol bsss
Fisaf oo il ol sB) FgT s
iS ol S gime Al O30 0
Yy
<
A

[29]

fodys olon ot hog
wow gfes S Sy gonlat g s T
Sy f oslnggns
o> £ ousle Wlsse (e (T4 enle dims) o
wims p g we weon o L) Huy e o
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Pod BT glme &5 Lo o wS/of suay s ny Hlass IP
i‘/ﬁ;g/‘-’_w/g sols el 910 gwuthJ 394 £ A2 I
| fon Jad
=20 Sl le wligw ot 2 ws b eo —p Jiguw
[i4] sl p ki) S0 dasl
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. fofy £ wlﬂo;u
2t G0 2 2 lus we o vy Sy P
Seoo7 goloden e KT IR NS | @ st Lo5d
DT > oS T 8y R
S\(\{‘Q’l)g::k&uﬁwf =/ ghml wls &1 -
00T 506 o an ol me o A g el

-
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Total No. of Questions : 5] SEAT No. -

P373 [Total No. of Pages : 2
[4763] - 1023
EFY. B.Com.
URDU
(2013 Pattern) (General Paper - 1)

Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:
1) Attempt all questions.
2)  Figures to the left indicate full marks.

A. Bang-e-Darapart - | B. Mazameen-e-Mujtaba Hussain
_.udeU.:«Ui}’(l;
(15) -éfio‘/’lfwLﬁ)(jfﬁi@l%{_blﬂﬁj{d}”/@,@@'pf}ﬁ 1A e
L

N A I

(14) DGl AR LA L Ay
(15) STl Ay
L

_e e F e Sop el g

(10) B Halr T e U L s (Il
U,.“U’:rﬂjgug’u - Eondloilsd ¥ d%d}/’:‘f i

S 136Ut S s artinmed s f LS He il e ()
10) i bt

PTO.
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S G 0nr§030
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s b g Sium i

G 2 et B
RO RV RV N SV
BAYE SRS
wliF AFKSEA S
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WUt el PP
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Total No. of Questions : 5]

SEAT No. :
P374 [Total No. of Pages : 2
[4763] - 1024
F.Y. B.Com.
PERSIAN
(2013 Pattern) (General Paper - 1)
Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.
Q1) Define and Illustrate any FIVE of the following : [10]
SEEIETS A R S| [ P ?fl X
s s . " . .
/”J)J _ L /J’/u/’:u; _N J:Jl‘(f‘”? "
Q2) Define any TWO of the following : [10]
b & \:/j‘a/) v U’f:" ¥ L -
Q3) a) Reproduce in simple language any ONE of the following : [10]
o L Y
0, & WA ((L")':/J‘/‘Y A&
b)  Write answer any TWO of the following : [12]
I)  Literary works of Iqubal i)  Life sketch of Parveen Etesami
i)  Poetic art of Iraj Mirza Iv) Style of Hafiz
Q4) Translate and explain any TEN Couplets of the following: [20]
&‘LJ oW bt G L o vdd
L f‘b/uﬂ/} S il -y
Mold S UbL L gr Urha b longross e
/U///)/J /U’ /"‘{“ /U//)”/}/u’)j}/ﬁydl ‘d
N [ J/}[ /JL/J -
’X“')/LLJ/L}J?JQ"’///L«J) /)/’U(f' L L y
(/))JL!J\L')W}U’)&/ u}«’u[,gzlyr/ 07/ .
//:u)/ua;,/l MLUL///)/LJL)“" - <

(L’/J/LLH,J,»)"/) - A
I//‘///) ')J//
dL s u,/w///

L ol ,//)L,,J/

/L/l >t ’-»)(‘L,w#
N LU Sy b 7

PTO.



~ N S P Y 4
/L/Z..L/L()/U')))/u’} /’-(/")(J‘:}/V)//k_/’)l_v)/J :

NV ¢
/u/,;l/ua“"t/u“”’ | L oZ I sasr

Q5) a) Translate into English, Urdu or Marathi any TWO of the following :[10]

. A . . . Y - N f g . ‘_,0 . )
L},)}/U:J///Lu")jC/v"/'//(u/"L/u(,/u//jLo{/—,&/,/,llﬂzu,;/'u‘:j |
/LMLPOL\J}’/))///)M/M/)W’//d}/)“)u /‘/"//k,ﬂ/)}
JPGLL////\JJ/OU)J.}»/J)JM ’{’//J\}/'L?/ld‘,.f"[_ ,\//7'

- w’//////‘”/u/L)//Af////'u)(ﬁ/w/l

- v
’)/"/ﬂ /,VL.-M/\);"\»(,J ),Juuuu//i uf//)""“"‘é ')‘/Z(¢
l L { | Lot
)'/J//’U)bv (’*EJL’U'/J’J ’,»J'/’G))jﬁh/y s "
ﬁ/»//)w/bw"ﬁﬁv’/ww VSN S
ﬂu)/d/rfb»u}(»"/
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b) Translate the following unseen passage in your own simple Persian. [8]
The first recorded history of a postal service is the found in the
writings of Ziaud-din Bami who mentions that Allaud-din Khilji organised
a regular horse and foot runner service called Hirkara's early a 1296. The
Hirkara carried a baton with bells and ran across their alloted territory

with the mail. The running followed a relay system.
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Total No. of Questions : 5] SEAT No. -

P375

Time : 2 Hours]

[Total No. of Pages : 4
[4763] - 1025
F.Y. B.Com.
FRENCH (Beginners)
(2013 Pattern)

[Max. Marks : 60

Instructions to the candidates :-

1)  All questions are compulsory.

2)  Use of dictionary is not allowed.

Q.1. Complétez un dialogue (10)
A. Sandrine Levasseur est dans un entretien —d’embauche. Elle demande des questions
au directeur des ressources humaines sur les clients, ses collégues, le salaire et les
primes — les outils de travail, les déplacements...

Sandrine :

DRH:
Sandrine :
DRH :
Sandrine :
DRH:
Sandrine:
DRH :
Sandrine :
DRH :

Sandrine :

DRH :

Excusez-moi, mais je voudrais des précisions sur ce poste. Je peux vous
poser des questions ?

Oui, je vous en prie .

Dans quels ?

Au Japon, aux Etats-Unis et en Chine .

Si je suis embauchée, ?
Vous allez utiliser un ordinateur et un téléphone portable.
Et ?
Vous disposez d’une voiture d’entreprise.

Avec ?
Vous allez travaillez avec le directeur de la production.

Et si je suis embauchée, ?
Le salaire brut est de 40 000 euros par an plus les primes.

ou

B. Vous allez chez un chocolatier et vous voulez acheter un assortiment de chocolat. Vous
posez des questions au vendeur. Il montre les chocolats au lait classique, les chocolats
€pices, les chocolats au fruits et les chocolats noirs, moins sucrés.

PTO.



Vous : Bonjour monsieur, je voudrais un assortiment de chocolats.

Le vendeur :

Vous : Je ne suis pas sir. Vous pouvez me conseiller ?

Le vendeur :

Vous : Et ceux-la, les chocolats noirs, sont a quoi ?

Le vendeur : ?

Vous : Et ces chocolats-ci, ils sont & quoi ?

Le vendeur :

Vous : Et ces chocolats ?

Le vendeur: .
Vous: Alors, donnez-moi 4 chocolats noirs, 4 chocolats épicés, 4 chocolats

au thé vert, et 4 chocolats aux fruits.

Q.2. Grammaire et vocabulaire

A. Mettez au pluriel :

1. 1l prend I’avion de Paris.

2. La secrétaire remercie le directeur.

B. Soulignez I’objet direct :

1. Elle essaie le modéle en vitrine.
2.Vous avez la carte, s’il vous plait ?
3. On peut mettre les rubriques.

4. Vous allez annuler le rendez-vous.

C. Complétez avec des prépositions
1. Je vais demander le prix la vendeuse.
2. Vous venez un bouquet de fleurs ou un petit cadeau.

D. Choisissez 1a bonne réponse :
1. En France, la durée légale des congés payés est cing/sept semaines.

2. Le direction de la production est en charge de la fabrication/du commerce externe.

E. Dites vrai ou faux :

L. Les tickets, les billets sont des titres de transport.
2. Un TPE, est une grande entreprise.

3. Un habitant de la Chine est Chinois.
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F. Complétez avec des mots donnés : (salut, collaborateurs, un, bureaux)
Toutd’abord,ilyale - matinal. C’est ____ rite: quand j’arrive, je fais

un tour des _ pour serrer la main de mes .
G. Mettez les verbes entre parenthéses au temps indiqué :

1. Diane (prendre — passé composé) 1’avion le 16 décembre.

2. Le directeur général (gerer - présent) I’ensemble des activités de I’entreprise.

3 Ladirectrice (finir - futur) son travail.

4. Le réceptionniste (faire — futur proche) les réservations.

H. Reliez les deux colonnes

A B.

1. Une agence de a) Le boucher.

2. PME b) Titre de voyage.

3. Une boucherie c) Petites et moyennes entreprises.
4. Le billet d) voyage.

Q.3. A. Ecrivez en forme de paragraphe

Voici ’organigramme de Pentreprise NOFISA.

Directeur General- M. Guillaume Hugo'

Assistant = Henri Glize ™

i L 1
Directeur des ventes - Directeur marketting- Directeur de
Helene Vo Tran Eric Gomez I admm;stfatlon -
Paul Pilat
7 attaches 2 chefs de produits 2 assistantes
commerciaux
ou

B. Décrivez le processus de fabrication des boites de conserves de petits pois.
1. Laver les petits pois dans de ’eau chaude.
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2. Nettoyer les boites dans une mackine spéciale.

3. Mettre les petits pois dans les boites.

4. Fermer le boites a couvercle.

5. Mettre les bouteilles dans des cartons pour envoyer chez des distributeurs.

Q.4. A. Traduisez en anglais: 5)

Les salariés frangais sont priés de respecter les horaires de travail et les dates de congés
pay¢és que la direction fixe. Il est interdit de modifier ces horaires et ces dates sans accord de la
Direction.

En cas d’absence, le salari¢ doit informer son responsable hiérarchique. Un certificat
meédical est obligatoire en cas de maladie ou d’accident.

B. Traduisez en frangais: (5 au choix) ao
1. The personnel must respect the timings.

2. First, one adds the vegetable cil.

3. He is a very experienced.

4. We ordered boots on this site.

5. These are classical milk chocolates.

6. Do you want something else?

Q. 5. Compréhension
v Les espadrilles sont des chaussures d’origine basque, une région au sud-ouest de la
France. Nés en 1890, ces chaussures sont aujourd’hui de nouveau a la mode parce que deux

amis, Mathieu Labat et Julien Maisonnave, agés de 36 et 37 ans, ont eu ’idée de créer des
modé¢les modernes.

A. Dites vrai ou faux : )
1. Les espadrilles ont d’origine basque.

2. Larégion basque se trouve au sud-est de la France.

3. Les espadrilles sont des chaussures.

4. Deux amis ont eu I’idée de créer des modéles modernes.

B. Donnez le contraire : modernes. ouest (D)

L
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Total No. of Questions : 4] SEAT No. :

P882

[4763] - 1026 [Total No. of Pages : 7

F.Y.B.Com.
GERMAN

German (Basic)
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Note: A/l questions are compulsory.

10 Marks are for Reading Comprehension and 10 Marks for Oral Exam.

Frage L. Beantworten Sie die folgenden Fragen! (Nur 10) {10}

Woher kommen Sie?

Was sind Thre Eltern von Beruf?

Was machen Sie in Threr Freizeit?

Wie finden Sie den Roman Fwo States?

Was essen Sie zum Friihstiick?

Was mochten Sie spiter werden ?

Wie viele Stunden lernen Sie jeden Tag Deutsch?
Um wie viel Uhr stehen Sie jeden Tag auf?

Was haben Sie letzten Samstag gemacht?

e T AU R I

10. Was darf man in der Schule nicht machen?
11. Wann sind Sie geboren?
12. Wo wohnen Sie?

Frage IL Ubersetzen Sie! [10]
(A) Ubersetzen Sie ins Englische! (03)
Lieber Carlo,

ich mochte meinen Geburtstag diesmal im Wald feiern. Hoffentlich kannst du
kommen! Hier ist eine Wegbeschreibung zum Clubhaus. Du fihrst mit dem Zug bis
Bielefeld Haupbahnhof Dann nimmst du den Bus Linie 31 in Richtung
Oerlinghausen.
Viele Griif3e
Dein Eberhard
(B) Ubersetzen Sie ins Englische! (03)
Wir sind drei Studenten und haben zusammen eine Wohnung. Wir haben sie letztes
Jahr gekauft. Aber die Wohnung ist sehr grof3. Sie hat 5 Zimmer, Bad und Kiiche. Sie
hat auch einen Balkon. In der Wohnung gibt es aber wenig Mdbel. Wir haben auch

kein Telefon.
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(C) Ubersetzen Sie ins Deutsche! (Nur 4) (04)

L.

(SN T

My birthday is on 21% January.

Ican speak German and French.
Where are you hanging the picture?
Last week I visited my grandparents.
It is raining. I need an umbrella.

The dog is sitting under the table.

Frage I[I. Grammatik und Wortschatz. | [30]

(A)Erginzen Sie die Personalpronomen! (Nur 4) (04)

L
2.
3.
4.
5.

Das Radio hat keine Batterieund  ist nicht schon.

Ihr Hund ist nicht da. Clara sueht .

Das ist seine Freundin. Erliebt __ sehr. Jeden Tag kauft er eine Rose fiur .
Das Kind spielt im Garten. ______ hat seine Hausaufgaben schon gemacht.

Besucht du - morgen? Ich habe morgen Zeit.

(B)Erginzen Sie die Possessivpronomen! (Nur 4) (04)

1.

wos W N

6.

Herr Norbert, sind das _ Handys?

Petrahat  Regenschirm vergessen.

Dasist ____ Vater. Ich liebe ihn sehr.

Habtihr ____ Hausaufgaben schon gemacht, Kinder?
Istdas___ Auto, Sebastian?

Herr Meier wohnt in Berlin. Aber __ Frau wohnt in Miinchen.

(C)Ergiinzen Sie die richtigen bestimmten/unbestimmten Artikel! (Nur 4) (04)

L

S A i

Hastdu ___ Fotoapparat?

Wie findet ihr _ Gummistiefel dort?

Ich branche ___ Regal fiir meine Biicher.
___ Somnenbrille ist sehr schdn. Ich kaufe sie.
__ Sohn ist krank. Er soll .zum Arzt gehen,
Wir mochten  Film sehen.

(D)Schreiben Sie das richtige Modalverb! (Nur 4) (04)

1.
2.

ihr gut schwimmen?
Die Kinder eine Pizza essen.
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5.
6.

Hier man nicht laut singen.

Die Studenten eine Pause machen. Aber sie
Sie haben bald Prifung.

Esist kalt. Du einen Pullover tragen.

Ich 10 Sprachen.

(E) Erginzen Sie die richtige Priposition! (Nur 4)
I

[=2)

2
3
4
5.

(F) Se
1
2
3
4
5

Das Bild hingt der Wand.

. Frau Stern steht dem Herd. Sie will den Herd putzen.

. Robert stellt die Biicher das Regal.
. Der Mann fahrt seinem Auto den Baum.

Ich habe Kopfschmerzen. Ich gehe dem Arzt.

hreiben Sie die folgenden Sitze im Perfekt! (Nur 4)

. Er packt schnell den Koffer aus.

. Uwe besucht seinen Freund.

. Wir trinken Kakao gern.

. Am Sonntag kommt mein Onkel nach Hamburg,
. Am Montag lese ich das Buch.

Mein Vater repariert sein Auto in der Garage.

(G)Schreiben Sie das richtige Verb! (Nur 3)

(schreiben, einladen, finden, suchen, lesen, haben, aufmachen)
1.
2.
3
4.
(H)Bilden Sie Fragen! (Nur 3)

Sie morgen Geburtstag. Sie ihre Freunde
Nachste Woche wir die Pritfung.

Wie Sie das Restaurant, Herr Doblin?

Die Kinder Biicher gern.

1. Ich suche einen Hammer.

2. Ich besuche morgen meine Eltern.
3.

4. Der Unterricht davert 2 Stunden.

Am Sonntag habe ich FuBball gespielt.

Frage IV. Wortschatz und Schreiben

(A)Schreiben Sie die Gegenteile!

1. links#
2. billig#
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(B)Was passt nicht? (02)
Sohn — Tochter — Onkel — Frauen
Koffer: grof3 — freundlich — alt — kaputt

W=

zeichnen: Blumen — Menschen — Katze — Englisch
4. betrefen: einen Rasen — den Abend — ein Museum - ein Restaurant
(C)Schreiben Sie ¢ine Ansichtskarte und einen Zettel/ eine SMS!

I. Sie sind auf einer Spanienreise. Schreiben Sie eine Ansichtskarte an Thren (04)
Freund/ Thre Freundin! Thr Freund/Thre Freundin wohnt in Deutschland.

2. Schreiben Sie einen Zettel ODER ¢ine SMS fir Sandra. Sie miissen nach (02)

Berlin fliegen. Sie kommen am Montag wieder zuriick. Sandra soll sie anrufen.
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Total No. of Questions : 5]
P88?2 [4763] - 1026
F.Y.B.Com.
GERMAN
German (Advanced)
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80

Use of a dictionary is not allowed
10 marks are for oral examination and 10 marks for listening comprehension.

Frage 1. Ubersetzen Sie die folgenden Text ins Englische oder Marathil [16]
(A) {05)
Weihnachten ist das wichtigste Fest, nicht nur fiir die Kinder. £s gibt Geschenke und
natiirlich einen Tannenbaum. Weihnachtsbdume schmiickt man schon seit fast 500
Jahren. Frither benutzte man essbaren Schmuck, also Kekse und Schokolade. Nach
Weihnachten durften die Kinder diese SiiBigkeiten essen. In den deutschsprachigen
Landern wird am 24. Dezember, dem Heiligen Abend, gefeiert.

(B) (05)
Essen in der Schulkantine: Es soll gut schmecken, frisch, gesund und auch noch
preiswert sein. Fir den Koch ist das gar nicht so einfach. 800 Kinder und Jugendliche
mogen nicht dasselbe. Eine Schiilergruppe an der ,Albert Einstein’ Schule hat eine

. Umfrage {(survey) gemacht: ,Was magst du am liebsten?”- Die Antworten sollen dem
Kiichenchef in der Zukunft bei der Planung helfen. ,,Am liebsten mag ich Hamburger mit
Pommes”, sagt Ceclia aus der 9. Klasse.

(C) Ubersetzen Sie ins Deutsche! (hwy 3) (06)
1. Earlier there were more joint families. Today there are mostly nuclear families.

2. From 1961 till 1989 the city of Berlin was divided into two parts.
3. Sandra exercises every morning, rides a bicycle and eats healthy food to stay fit.

4. The Germans have three main meals- breakfast, lunch and dinner.

Frage 2. Beantworten Sie sechs der folgenden Fragen! [12]
1. Verstehen Sie sich gut mit lhren Eitern? Wie ist ihre Beziehung mit lhren Eltern?

Wie wird Silvester in Deutschland gefeiert?

Ihre Freundin ist immer krank und nicht fit. Geben Sie ihr zwei Tipps!

Was bedeuten Emigration und Immigration?

Wie viel Taschengeld bekommen Sie pro Monat? Was machen Sie mit diesem Geld?

Méchten Sie in einer Wohngemeinschaft wohnen? Begriinden Sie thre Meinung!

Wie viele Jahreszeiten hat Deutschland? Welche?

Schreiben Sie kurz iiber die Stadt,Frankfurt am Main‘{

Wie hat sich das Familiensystem in Deutschland verindert?
10 Was essen und trinken Sie, um gesund zu bleiben?

Frage3. Lesen Sie den folgenden Text und beantworten Sie die darauf folgenden [08]

Fragen!

Susanne Meyer hat es geschafft. Sie fliegt um die ganze Welt. Sie interviewt beriihmte
Leute. Wenn Sie ihre Freunde aus dem Gymnasium trifft, dann erzihlt sie von ihrem Leben
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in New York. Angefangen hat es alles mit einem Praktikum bei der Stadtzeitung’ in
Gelsenkirchen. Eigentlich wollte Susanne eine Englischlehrerin werden, aber dann hat sie
ihre Liebe zum Journalismus entdeckt. In den sechs Wochen bei der Stadtzeitung' hat sie
gesehen, dass das ihr Traumberuf ist. Deshalb hat sie mit ihrem Studium aufgehort. Sie hat
angefangen, als selbststindige Mitarbeiterin fiir verschiedene Zeitungen zu schreiben:
kleine Artikel, Interviews, Reiseberichte. Und sie hatte Gllick, sie konnte ein Interview mit
einem amerikanischen Rockstar machen.
Heute sagt Susanne: ,In den ersten Jahren habe ich sehr wenig verdient, meine Eltern
haben mir geholfen. Sie haben mich teilweise auch finanziell unterstiitzt. Erst seit ich einen
Vertrag bei einer amerikanischen Zeitschrift habe, filhte ich mich wirklich selbststandig und
frei. Die Arbeit macht mir SpaR, ich schreibe meistens iber die Popkonzerte, die Stars und
ihre neuen CDs, da passiert so viel Interessantes und Neues. Das ist fasziniernd.”
(A) Schreiben Sie Richtig oder Falsch! (04)
1. Susanne hatte einen Job bei der Stadtzeitung.
2. lhr Traumberuf war Englischlehrerin zu werden.
3. Am Anfang hat sie freiberuflich fiir verschiedene Zeitungen geschrieben.
4, Sie ist zufrieden mit threr Arbeit.
(B) Beantworten Sie die Fragen! (04)
1. Was hat Susanne geschafft?
2. Warum hat sie mit ihrem Studium aufgehort?
3. Wie haben Susannes Eltern ihr geholfen?
4. Was findet Susanne faszinierend ,

Fraged. Grammatik und Wortschatz [20]
(A) Schreiben Sie die Satze in Passiv! (nur 3) (03)
Die Deutschen ziinden jeden Sonntag eine Kerze an.
Man schalt zuerst die Kartoffeln und dann kocht sie.
Die Lerner lesen Texte und schreiben Aufsdtze in dem Deutschunterricht.
Den Miill wirft man in den Abfall.
. Alle Menschen miissen den Verkehrsregeln folgen.
(B) Schre1ben Sie die Satze im Prateritum! (nur 3) (03)
1. Viele Tirkinnen tragen ein Kopftuch.
2. Das Kind schldft schon um 21 Uhr.
3. Es gibt nicht viele Engldnder in Deutschland.
4, ich wasche mein Auto am Sonntag.
5. Sie will einmal im Leben den Eiffelturm sehen.
(C) Schreiben Sie die folgenden Sétze im Perfekt! (nur 3) (03)
In diesen Sommerferien fahren wir an den See.
Diirftet ihr damals bis spét in der Nacht mit Freunden telefonieren?
Die Zeitungen erzdhlen Gber die aktuelien Probleme.
Lest ihr das Buch ,The Lost Symbol™?
Die Studenten mussten viel lernen,
(D) Verbinden Sie die Satze! {nur 3) {03)
1. Monika moéchte nicht schwimmen. Sie hat Angst vor Wasser.

e S
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Die Frau kann gut Deutsch. Sie kann auch gut Japanisch.
Er kann nicht lesen. Er kann nicht schreiben.
Er hat heute entschieden. Er geht jeden Tag joggen.
Du kannst ein Kleid tragen. Du kannst eine Bluse mit einer Hose tragen.
(E) B:Iden Sie Relativsdtze! (nur 3) (03)
1. Das Kind ist 9 Jahre alt. Es spielt im Garten mit dem Ball.
2. Kannst du mir die Telefonnummer von Frau Gensel geben? Sie wohnt in der
KaiserstraRe.
3. Das sind alle Blicher. Wir miissen sie einmal lesen.
4. Der Briefist endlich da. Ich warte auf ihn seit 2 Wochen.
5. Ich finde die Uhr nicht. Meine Oma hat sie mir geschenkt.

VR W

(F) Ergédnzen Sie das richtige Wort! (05)
1. Der 24. Dezember ist der .
2. Sein Name ist Alfred D&blin, sein __ ist 19 und sein ist ledig.
3. Deutschiand hat 16
4. Das Kind hat nur einen Elternteil. Seine Mutter ist eine Frau.
5. Im Rheinland sagt man und in Bayern und Osterreich Fasching.
Frage5.  Ergdnzen Sie den Dialog! [04]
Im Restaurant
A: Guten Tag, ?
B: Ich hitte gern einen Salatteller mit Ei und Schafskise bitte.
A: ?
B: Einen Apfelsaft bitte.
A
B: Ach so, dann wohl ein Mineralwasser.
A: ?

B: Nein, danke. Das wére alles.
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Total No. of Questions : 5] SEAT No. -

P376 [Total No. of Pages : 2
[4763] - 1027
EF.Y. B.Com.
SANSKRIT
(STTRHTAT)
(2013 Pattern)
de : 3 arql [T 79T ;60
ot - 1) §d U AWE oiTea.
2) IWdiehREier ek gut Tur gviferama.

Q1) Translate into English or Marathi any one from section'A' and any one from

section 'B". [12]
geter ufteagiuehl ‘3t faumTdier Sivremdt e 9 9 faumTdier st et

SECTION - A (fawmr - 31)

1) TR o FATHRATINTUIH LT SIERTUATEATGAT SATEREINTA he [Thert TR
WEETER | 7 9 W Hhatiod RgWh aumetead | aafe @ Jare i age
TUA AT IEISAATUTH — A AT TR A9 IR I Fore T HeTd aqrearg-=
HEg gWreany fgam: |

2) sft—TTUTITIrEEE U UTR(HT | TUH @ Iedal EHS: SISt a1 eihA:
Ha THIAS: FHa: | TAT AT AT Sreney fava femomagea: g avafea
ATHI | ATAHE TTeHhTasy 7 a9T i, JATaWd, Ty A |
T TEHSIHTEE ATHIN IR AR : Haq |

SECTION - B (fawm - =)

1) wmmam geER Feafrafaasaem |
ATEEHAGA I, Faaa™ Tggaemy ||
AT EerTaa el alel ageiifaaATayT™ aaerd |
fafg sneafimmre, % wiehgd @@ awEaH |
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Q2)

Q3)

Q4)

Q5)

2) I TEN TEHRIEATGHUTERTATE T
AT TR TURIHEETEE W |
qaigegadl ga1 3fd ag-eaaTieehR et
AT TEUCERS W e qeem: W ||

Explain with reference to the context any one from section ‘A’ and any one
from section 'B'. [12]
‘e’ faumTdie ST TEe 9 ‘9’ faqunTdie g twre wEe wadtet

<hT.

SECTION - A (fawmr - ar)

1) YuanHEyAA AT AR |
2) gawafu urE gAesta siaam

SECTION - B (fasmt - =)

1) forarfafy: o wafa wgat Aot |
2) o detad 7 ared YA |

Write the summary of the lesson “TurfRerrmfereeR:’ [12]
“moTfeRnTiaeRr:” AT greTen |rir foret.
OR / fepan
Write the summary of the lesson ‘“Torstieaa:’
TrorvTeEa:” AT UTeTaT A ferar.

Write the summary of the lesson ‘ssurers’ [12]
‘SHUTER’ AT UTeTen " ferET.
OR / fear
Explain ‘amriame=®’ and ‘wefeewt in ‘weavme o’
FHIEATE ToAETe arhiaTes 9 URfeteht TE .
Write short note on any two of the following : [12]
WTATTdeh! I qigier foaees ufese forar.
1) uza=w 2) TIgaHawT
3) wWEHRA 4) maﬁf:

63
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Total No. of Questions : 5]

SEAT No. :
P377 [Total No. of Pages : 4
[4763] - 1028
EFY. B.Com.
G-1:ARABIC
(2013 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Translate into English or Urdu or Marathi any two of the following Passages :

‘ [16]
\:‘//(//” -, - —
& ){'/l;dﬁl‘p \..03\; < \QL/ a7y (_JJX
//.:, // >/ 4
P - oLy(M»waa M‘/“uu
S e

't’(/‘:éj)/tfke_)\uc" M(//Lé)\\\}*

dL ”’f@&)me NG o=

41@ cé\_)i-l:,jwﬂ__)mwc? Mﬁ)\ é;; ﬁ,)

1\»/ /9//

c,l\)ao,év»@\y (/‘\(/.)‘é—(f’y Q))"
édds-;) %MLMA é,w“b (/LQ)\

-~ ‘”/) /e/

//
-~

jws\? LQ\%LM»LO«_Q)
(,wf(\v-c“ ‘Lc)Lw&M))\E

/'

Q\}) - l;w-)9\<\,v->\d —, CL))
,\w>f,p)oj)\(/[_/iﬁ va-? L/\/\/‘-").) y -
«— Qﬂ\w = W\ 55
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—)3\;‘)4,.)\?;:);343\: &i))j‘g)\_}v*“

Lo AL

‘Uﬁﬂwp ;%LM)\@ z:’vl!“’vid\vb‘
UVVD\(}L’UM ‘,}z,a)\dwvjc"w\\\}*@

~ 2 D ' -~

g\/j Lﬁd\d»w\dv;/—-u\_:ﬂz}—f-wff

—-J.Ld\uﬂgf dJ_g,) \jw,h) LL_ﬁﬁ SECERTF
zu’f)\é,mvu\cyw\ws\&ﬂw» A\

e

%a\upu\uﬁ\(y 572 e QY
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Q2) Explain any Four of the following couplets : [16]
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Q3) Translate into English any Four of the following Sentences :

: [8]
a)

(;0/
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b) Translate into Arabic any Four of the following sentences : [8]
)  Onthe window there is a curtain.
i)  The new teacher is a tall man.
i) My Father is in his room.
Iv) No, his college is closed.
V)  There is student in the class.
vi) Inthe fridge there is an apple.
vii) The Head is sitting in his office.
viii) He took him to the school.

Q4) Explain with examples any Two of the following Topics : [16]

- /:/"‘;\3\()\’:\,\))@__0(/.1’&)”}\/)\ @
_ L,—_Q\ -
v u;c?@ c\\.&)\ﬁ\vb\(@

Q5) a) Summarise any Two of the following lessons : [8]
A
AN L D '
~ s G

b)  Write in Arabic any One of the following : [4]
}” ?Li@ - %ﬁé\m):;’;b\@
c) Write a letter in Arabic to the Bank Manager. [4]
363836

[4763] - 1028 4



Total No. of Questions : 5] SEAT No.

P378 [Total No. of Pages : 4
[4763]-1029
F.Y.B.Com
FOUNDATION COURSE (RESTRUCTURING)

(2013 Pattern)
Time : 3 Hours] [Maximum Marks : 80

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) What is Poverty? What are the Causes of poverty in India? Suggest measures
to eradicate Poverty. [16]

02) What is Unemployment? What are the causes of Unemployment in India?
Suggest measures to reduce the Unemployment. [16]

OR

What are the Causes of Low productivity of Indian Agriculture? Suggest
measures to increase agricultural productivity.

03) a) What is Culture? What are the characteristics of Indian Culture? [8]
b) What is the importance of Religion in Indian Society? [8]
OR

a)  Whatis National Integration? What are the Various obstacles in achieving
the goal of Nation Integration in India.

b)  Whatis Scientific method? What are the Various steps in Scientific method.

PTO.



04) Explain the Concept of State, Government and Nation.

05) Write note on any two of the following

a)
b)
c)

d)

[4763]-1029

Rule of Law.
Planning of Education.

Characteristics of science.

Importance of Yoga.

+++
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Total No. of Questions : 5]

P378
[4763]-1029
F.Y.B.Com
UTATHA ALITEEHH (Aifea)
(2013 Pattern)
(A3 ®UTAR)
g : 3 ag | [ =T 77 - 80
gwar : 1) aF uvT @isfau sravas Sga.
2) HIIITII ITEFT FIGAT 747 — 747 9719 U7 FIfae HIFA.
3) @guraid? sust weaulasr ggrat.
gv7 1) afga RUR ®E? ARATA SRgETe R0 v ? aiga Ferraet sue
GELR [16]
97 2) AR UK KA ? WRATATA SR HRO FKI0TA ? AR HH HIOATATS!
IUTg Al [16]
fRan
WRATATA Il hHl IeaTdehd<ll Ul HIUMAl ? IcuTachal ATE(IUATETd! IUTd
gwar.
¥y7 3) ) ‘OEHAl TEUN HE? HRAE HEhAEl TS HITdl ? [8]
q) WRAE THTSE gHiE Hgcd T 3R ? [8]



feran

) VA THTHAT TFOS HTA? WRATHA THTT THTHAT AT HI0ATATA
fafay srsue =i ?

¥) A ULl T HIA? SATh geadidicl fafaer 2w wiom ?

gy7 4) TSA, WEHR G AY A1 HehoudT T &, [16]

¥97 5) Wrefierdshl Hvedrdl e dan feran [16]

HA) wHEEE AR,

g) Dragmme s,
%) fommm=h abmest.
g) I HEd.

+4+
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Total No. of Questions : 4 SEAT No. :

P379 [4763] -1030 [Total No. of Pages : 2

EF.Y. B.Com. (Vocational)
COMPUTERAPPLICATION -1
(2013 Pattern ) (Paper - I) (Theory)

Time : 2 Hours] [Max. Marks : 40
N.B. :-

1) Draw a neat-labeled diagram wherever necessary.

2) Figures to the right indicate full marks.

Q1) Answer the following : (Any Five) [10]
a) Octal
b) ASCII
c) ROM
d) Unix
e) MICR
f) Icons

g) Paint brush

02) Answer the following : (Any Two) [10]
a) What is Ms-Word? What are the features of Ms-Word?
b)  What is Output device? Explain any 2 devices.

c) Whatis e-mail? What are the advantages of e-mail?

P.T.O.



03) Solve the following :

a)

b)

Convert from Decimal to Binary:
(87),= (),
Convert from Octal to Binary:
(454), = (),
Binary Addition :
1011111+ 10111
Binary Subtraction :
11111-1011
Solve using 2’s complement Method.

1101+ 1001

04) Answer the following :

What is Operating System? Explain types of operating System.

OR

What is Internet? explain Uses of internet.

++4+
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Total No. of Questions : 3] SEAT No. :

P380 [4763] - 1031 [Total No. of Pages : 1

F.Y.B.Com. (Vocational)
ADVERTISING SALES PROMOTIONAND SALES MANAGEMENT
Marketing Communication

(Paper - I) (2013 Pattern)

yIime : 2 Hours] [Max. Marks : 40
Instructions :

1) All questions are compulsory.

2) Figures to the Right indicates full Marks.

Q1) Explain the concept & importance of marketing communication process. [12]

OR
What do you mean by communication? Discuss the various means of
communication.
02) What is Public Relations? Discuss the types of Public Relation. [12]

OR

Explain the concept, need and importance of Sales Promotion.

03) Write Short Notes : (Any two) [16]
a) Relationship marketing.
b)  Multi level marketing.
c) Types of events.

d) Presentations.
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Total No. of Questions :4 SEAT No. :

P381

[4763] - 1032 [Total No. of Pages : 2

F.Y.B.Com. (Vocational)
TAX PROCEDURE AND PRACTICES
Indian Tax System
(2013 Pattern) (Paper - 1)

Time : 2 Hours] [Max. Marks : 40
Instructions to the candidates :

1) All questions are compulsory.

2) Figures to the Right indicate full Marks.

Q1) Answer in 20 words each (Any Five) [10]
a) Define, assessee u/s 2 (7) of [.T. Act
b) What do you mean by “The State” under the constitution of India?
c) What does the Article 245 of the constitution contains?
d) What do you mean by income from “Other Sources”?
e) Define Direct and Indirect Tax
f)  Who is liable to pay Wealth Tax? and who is liable to pay excise duty?

g) Define Previous year and Assessment year.

02) Answer in 50 words each (Any Two) [8]
a)  What are the advantages of Direct Tax?
b) State the dis-advantages of Indirect Tax.
c) Write Note on Administrative Set up of taxation in India.

d) Write note on “Residential status”.

PTO.



03) Answer in 150 words each (Any Two) [10]
a)  Write note on Seventh Schedule to the Constitution of India.
b) State any ten exempted incomes under S. 10 of .T. Act, 1961.
c) State Various perquisites under I.T. Act, which are Partly exempted.

d) State the various taxable allowances under the head salary.

04) Answer in 500 words (Any One) [12]

a) State the various authorities, their powers and duties under I.T. Act,
1961

b) Write the various Articles which gives Powers to Central Govt. for
distribution of revenue between Central and State Government.

+4+
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Total No. of Questions :4 SEAT No. :

P382

[4763] -1033 [Total No. of Pages : 2
F.Y.B. Com. (Vocational)
COMPUTER APPLICATION
(2013 Pattern ) (Paper - I1)

Time : 2 Hours] [Max. Marks : 40
Instructions :

1) All questions are compulsory.
2) Figures to the Right indicate full Marks.
Q1) Answer the following (Any Five) [10]
a)  What is difference between break and continue statements?
b) Explain getchar(), putchar().
c) Explain any two file operations.
d) Explain for loop.

e) Explain any two string functions.

f)  Explain scanf() and printf() statement.

02) Write Short Notes on (Any Four) [12]
a) Algorithm.
b) Data types in C.
c) Logical operators in C
d) FunctioninC

e) Array

PT.O.



03) Write a Programme (Any Two)
a) To find factorial of a number.
b) To find odd and even number.

c) To swap two nos.

04) Write a programme in C

a) # include <stdio.h>
void main( )
{
static int count = 5;
printf ( “\ncount = %d”, count- );
if (count !=0)
main( ) ;
j
b) #include <stdio.h>
intx=10;

void main( )

{
intx=20;
{
intx=30;
printf ( “\n%d”, x);
}
printf ( “\n%d”, x);
}

++4+

[4763] - 1033 2

[10]

8]



Total No. of Questions : 3] SEAT No. :

P383 [4763] - 1034 [Total No. of Pages : 1

EF.Y. B.Com. (Vocational)
ADVERTISING SALES PROMOTION AND SALES MANAGEMENT

Advertising

(2013 Pattern)(Paper - II)

Time : 2 Hours] [Max. Marks : 40
Instructions to the candidates :

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) What do you mean by advertising? Discuss the advantages of advertising. [12]
OR

Explain the concept, scope & functions of advertising.

02) What do mean by Commercial V/s non - Commercial advertising? Discuss.[12]
OR

Discuss the various type of advertising objective.

03) Write Short Notes (any two) : [16]
a) Method of Advertising budget.
b) Difficulties in Rural advertising.
c) Ethicsinadvertising.

d) Appealsin advertising.
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Total No. of Questions :4 SEAT No. :

P384 [4763] -1035 [Total No. of Pages : 2

F.Y.B.Com. (Vocational)
TAX PROCEDURE AND PRACTICES
State Sales Tax And Central Sales Tax
(2013 Pattern) (Paper - II)

Time : 2 Hours] [Max. Marks : 40
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Answer in 20 words each (Any Five) [10]
a) What is mean by ‘taxable goods’ and ‘tax free’ goods?
b) Explain the term ‘Sales’ under M. VAT. Act
c) What is mean by ‘Appropriate State’ under CST Act?
d) What is the use of Form E-I and E-II under Central Sales Tax Act?
e) What is mean by ‘Documents of title to the goods?

f)  Which Form are used for Application of Registration under M.VAT. Act
and CST Act?

g) What is mean by ‘Appointed Day’?

02) Answer in 50 words each (Any Two) [8]
a)  What is incidence of tax under M.VAT. Act?
b) When sale is said to be ‘Out-side the State’?
c) Explain the term ‘Dealer’ under M.VAT. Act?

d) Enumerate objects of C.S.T. Act.

PTO.



03) Answer in 150 words each (Any Two) [10]

a)  What are the types and forms of ‘Returns’ under M.VAT Act? Enumerate
due dates of sub-mission of returns?

b) What are the ‘exempted sales’ under M.VAT Act?

c) Enumerate provisions of ‘Audit’ under M.VAT Act? Who and when
requires to get books of accounts audited?

d) How the ‘Turnover’ is computed under C.S.T. Act?

04) Answer in details (Any One) [12]

a) What is mean by ‘Registered Dealer’? What are the provisions for
obtaining and cancellation of registration under M.VAT Act?

b) What are the various ‘Form’ and ‘Declarations’ provided under CST

Act? Discuss their objects and utility under CST Act?

++4+
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